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TVC(c,b ch) (1 59

~ 1 nun 6.uYe+us / 25
pO 4311+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

-1 nuiyuye+us / 25
pO 4302+ 0.0
-35.81+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

X~ 1 iz 01be+u4 [ 25
po 4261+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

TVC(cbch) (1,556

T rnuz,u8/e+u4 [ 25
pO 4304+ 0.0
p1 -36.81+ 0.00

TP delay [ns]

TVC(eb.oh)=(1, 5, 10

1 nuiL43pe+U6 / 25
po 4319+ 0.0
p1 -36.79+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 14

T 13/e+u5/25
pD 4301 0.0
pl -35.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3)

A1 nuz0roe+ud [ 25
po 4268+ 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 57

=1 nug Ivse+ud | 25
po 4302+ 0.0
pl -35.64 + 0.00

TVC(c,b ch) (1, 5

TP delay [ns]

T, u/e+u6125
pO 4329+ 0.0
p1 -36.78 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

T nuiz 1o5e+U5 / 25
po 4311+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

X~ 1 yzie+U4 /25
po 4255+ 0.0
p1 -37.19+ 0.00

TP delay [ns]

TVC(cbch) (1,64

S e8/e+ud [ 25
pO 4281% 0.0
p1 -36.85+ 0.00

TP delay [ns]
TVC(cbch) (1 6,8) —
T nug.uLge+U4 5
= pO 4279:‘
-34.89 + 0.00
r C =28.66 [ps/ch]\_ 7
- o
TP delay [ns]
TVC(c,b ch) (1, 6 12

- rnuig.usse+Us / 25
pO 4287+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,6,1)

A 1 uizQuaerud | 25
po 4259 0.0
pL -36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nuz.0zze+u4 [ 25
pO 4278+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

T nu, 7b3e+us / 25
pO 4294+ 0.0
p1 -35.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

TinuiLy//e+u5/ 25
pO 4284+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

2000

4000

2000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,6,2)

1000

A~ 1 nuiz 4ose+u4 | 25
- po 4267+ 0.0
[ p1 -37.56+ 0.00

3000

TP delay [ns]

TVC(cbch) (16,6

1000

T 22(e+04 /25
- pO 4279+ 0.0
L pl -35.74 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

1 nuiz.yage+ud | 25
4315+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (1,614

~ 1L pzse+Us / 25
4278+ 0.0
-36.1+ 0.0

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3

A~ 1 nuiz, loye+ud | 25
- po 4272+ 0.0
pL -35.96+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,7

- 1 nu gzze+ud | 25
= po 4277+ 0.0
p1 -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

T u55e+u6/25
po 4291+ 0.0
p1 -34.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

1 nuiz.oboe+u5 / 25
pO 4268+ 0.0
p1 -36.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,7,0)

T
b, po

Ty BU4T7 [ 25
4244+ 0.0
-35.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (17,4

i 1yae+u4 [ 25
== po 4258+ 0.0
pl -36.88 + 0.00

50 10'0
TP delay [ns]

TVCebeh)=(1,7,8

- 1 bave+ud | 25
- po 4278+ 0.0
p1 -36.49+ 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T rnuizyure+us / 25
po 4280+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,7,1)

AT 1nuiLbrie+u4 /25
po 4263+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

“nuz.ug/e+u4 / 25
pO 4256+ 0.0
pL -36.64 + 0.00

TP delay [ns]

TVCEebeh)=(1,7,9

T 1 nuis.y4ze+u5 / 25
po 4273+ 0.0
p1 -35.73+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

T nuiLb3ye+u5 / 25
pO 4285+ 0.0
pl -36.38 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (1,7,2)

X~ 1L B1ze+04 [ 25
po 4254+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(cbch) (17,6

-1 nun2z8e+U6 / 25
e pO 4286+ 0.0
[ pl -36.87 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 7, 10

-1 nuy.yope+Us / 25
po 4276+ 0.0
p1 -35.79.+ 0.00

TP delay [ns]

TVC(cbch) (1,7,14

~ L z3e+Us / 25
pD 4279+ 0.0
-35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3

A~ 1 iz Zobe+ud | 25
- po 4273+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

= 1nuy.a4/e+04 / 25
= po 4280+ 0.0
p1 -37.31+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (L7,

1)
T naiLzz29e+U6 / 25
pO 4285+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

T nuiz.a4ze+U5/ 25
pO 4285+ 0.0
-35.64+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

A~ nui a4ze+04 | 25
4234+ 0.0
-36.08:+ 0.00

TP delay [ns]

TVC(cbch) (1,84

S i1 ble+ud /25
4276+ 0.0
-37.9+ 0.0

50 o
TP delay [ns]
TVC(eb.ch)=(1,8,8)
T 1nuzys4e+u4 | 25
= po 4265+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (1,812

po
p1

~rnuizusse+us / 25
4295+ 0.0
-36.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,8,1)

e, po

X- 1 LB ae+U4 | 25
4264 + 0.0
-37.15+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1, 8

-1 nui Bgze+u4 [ 25
e, pO 4267+ 0.0
pL -37.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

pO
pl

T nuig 518e+U5 [ 25
4282+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 8 13

T nui y4ze+U5 [ 25
4274+ 0.0
-35.28 + 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (1,8,2)

= P°

T zzze+ud |25
4265+ 0.0
-36.73+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,86

1000

0

= PO

pl

T, 712e+04 / 25
4269+ 0.0
-37.11 + 0.00

1
100

TP delay [ns]

TVC(c,b, ch) (1, 8

pO

pl

10

1L buze+U6 / 25
4286+ 0.0
-35.93+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 8

pD

pl

14

T g 1ze+U5/ 25
4292+ 0.0
-37.01+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

e po

A1 nuz531e+ud [ 25
4269+ 0.0
-36.84 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nuw a32e+04 | 25
= po 4269+ 0.0
p1 - +0,

37.19+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1,81

e, po

JRICTIS :,e+u6 125
4279+ 0.0
-35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8 15

pO
p1

T nuis s10e+U5 / 25
4291+ 0.0
-35.8+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0

K- 1nui rsre+u4 [ 25
e po 4256+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(cbch) (1,94

- i So8e+ud [ 25
== po 4271+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (1 9,8

b ze+04 [ 25
- pD 4238+ 0.0
p1 -34.02 % 0.00

4000

3000 - 1

2000 - 7

oo C = 29.39 [ps/ch] . 7]

| - o
TP delay [ns]
TVC(Cbch) (1, 9 12
4000

3000

2000

1000

T, ro1e+U5 / 25
po 4260+ 0.0
pl -34.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (1,91

AT 1L, r9ve+u4 / 25
- po 4266+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 nui Bye+u4 / 25
- pO 4285+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 nui. fbge+us / 25
po 4261+ 0.0
p1 -34,58 £ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

T nui szse+Us [ 25
pO 4248+ 0.0
pl -34.17 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,9,2)

X~ 1 iz Qose+u4 | 25
[ po 4262+ 0.0
[ p1 -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,96

1000

T rnuz181e+u4 / 25
- pO 4292+ 0.0
[ pl -37.04 0.00

TP delay [ns]

TVC(eb,oh)=(1, 9, 10

1 nuiLu4Ye+U6 / 25
F po 4278+ 0.0
L pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (1,914

Tz, 143e+05 / 25
frees, pD 4254+ 0.0
[ p1 -35.31# 0.00

P B R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,3

AT 1 nuiz4z5e+U4 [ 25
- po 4299+ 0.0
pl -38.17 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

= 1nuy.a/ze+04 [ 25
= po 4291+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

AL z/5e+u6/25
4266+ 0.0
-34+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 9 15

T a1 r3e+U5/ 25
po 4261+ 0.0
p1 -34.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnaLolie+ud /25
- pO 4258+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (1,104

-1 i boye+ud / 25
- pO 4244+ 0.0
p1 -34.53+ 0.00

[ C =28.96 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T L1 74e+05 / 25
= po 4289+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

- 1z puve+us / 25
P 4275+ 0.0
-33.9+ 0.0

[ C=29.50 [ps/ch] ™ 1

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT 1 nuiLblye+ud /25
- po 4275+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

-1 nui B43e+u4 / 25
e pO 4245 0.0
pL -35.21% 0.00

TP delay [ns]

TVCebeh)=( 1, 10,9

T nup.1b3e+U5 / 25
po 4287+ 0.0
pl -35.92 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (110,13

Tinun151e+u5 /25
= pO 4279+ 0.0
pl -32.96 + 0.00

[ C =30.34 [ps/ch] " -]
 USE——T .
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

A7 1 nui p4se+u4 / 25
=, po 4260+ 0.0
o pl -35.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

-1 nuz,u3ve+ud / 25
e pO 4265+ 0.0
[ pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1 nuiL438e+U6 / 25
F DO 4297+ 0.0
o pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (110,14

- 1L gyve+Us / 25
__ pD 4282+ 0.0
L pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

A- 1 2. 2ae+ud | 25
P po 4256 + 0.0
pL -34.68+ 0.00

[ C =28.84 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (1,10,7

-1 nug.Usbe+u4 / 25
- pO 4275+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiygle+u6 / 25
= po 4322+ 0.0
pl -38.06 + 0.00

TP delay [ns]

TVC(cbch) (1,10,15

-1 nuiz.yboe+u5 / 25
Froees, po 4264+ 0.0
-33.68 + 0.00

[ C=29.69 [ps/ch] . 1

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A1 syle+ud /25
= po 4264+ 0.0
p1 -37.27+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

T rnuiLb/ye+ud / 25
4266+ 0.0
-35.9+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (1,11,8

©rnuiLzule+U5 / 25
= po 4288+ 0.0
pl -36.92+ 0.00

TP delay [ns]

TVC(c,b Ch) (1,11,12

X~ g ys4e+U5 / 25
= PO 4294+ 0.0
pl -36.01+ 0.00

P ISR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,1)

AT 1 nuiz,ubbe+u4 [ 25
= po 4273+ 0.0
p1 -36.53 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 5

-1 nuz.uzye+u4 [ 25
- pO 4263 0.0
pL -36.14 + 0.00

50 150
TP delay [ns]

TVC(eb.eh)=(1, 11, 9

T inuiLzz1e+U6 / 25
- pO 4304+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

T 1 nuiz.o34e+U5 / 25
pO 4295+ 0.0
pl -36.54 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (1,11, 2)

X~ 1z z(be+U4 [ 25
P, po 4288+ 0.0
[ p1 -37.4+ 0.0

3000

TP delay [ns]

TVC(c,b Ch) (1, 11 6

T, [14e+04 | 25
4282+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

X~ 1 515e+06 / 25
= po 4318+ 0.0
N p1 -36.75+ 0.00

TP delay [ns]

TVC(c,b Ch) (1,11, 14

X~ 1z 142e+05 /25
po 4293+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,11,3)

A1 nuizzr5e+ud [ 25
e po 4289+ 0.0
pL -36.44 £ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 7

Cnun11/e+U5/25
pO 4287+ 0.0
p1 -36.02:+ 0.00

TP delay [ns]

TVC(Ebeh=(1, 11, 1

T nuiz 117e+06 / 25
k. pO 4318+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15)

T nu, rz8e+U5 / 25
- po 4301+ 0.0
p1 -37.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T srve+u4 [ 25
4213+ 0.0
-34.83+ 0.00

TP delay [ns]

TVC(cbch) (1,124

B pO

S i1 51e+u4 [ 25
4231+ 0.0
pl -35.28+ 0.4

-35.28 + 0.00

1
50 100

TP delay [ns]

TVC(ebeh)=(1, 12,8

T 4.00e+04 /25
= po 4256+ 0.0
p1 -35.68+ 0.

-35.68 + 0.00

TP delay [ns]

TVC(cbch) (1,12,12

-34.93 + 0.00

T z.3/e+U5/25
pO 4247+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (1,12,1)

e, po

AT 1 nuiLzyse+ud [ 25
4222+ 0.0
-35.26 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,125

- nui B3/e+04 / 25
4245+ 0.0
-35.58 + 0.00

TP delay [ns]

TVCEbeh)=( 1, 12,9

pO
pl

T nugsy/e+u5 / 25
4253+ 0.0
-34.27 + 0.00

TP delay [ns]

TVC(cbch) (112,13

pO
p1

T a3 r0e+U5 / 25
4248+ 0.0
-35.87+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000

2000

4000 =,
3000
2000

1000

1000

TVC(CbCh) (1,12,2)

b po

K™ 1 nuioyoe+ud / 25
4232+ 0.0
p1 -34.98 + 0.00

TP delay

TVC(cbch) (1126

[ns]

-1 nuz 20ze+04 [ 25
4243+ 0.0
pl -35.41+ 0.00

=, pO
[ C =28.24 [ps/ch
S(I) 10‘0
TP delay

TVC(e b eh)=( 1, 12, 10

pO
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pL -35.08+ 0.00

TVC(c,b ch) (2, 3

1(;0
TP delay [ns]

SRR bbée+l}6/25
pO 4302+ 0.0
p1 -35.72+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (2,315

Tnas11e+us/ 25
po 4276+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



TVC(cbch) (2,4,0)

4000 e
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2000

1000

X~ 1w bose+U4 [ 25
po 4264+ 0.0
p1 -35.06 + 0.00

TP delay [ns]

TVC(cbch) (24,4

- 1wz, 049e+04 [ 25
po 4269+ 0.0
pl -35.91+ 0.00
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3000 [~ 7]
2000~ 7]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(c,b ch) (2,48
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3000

2000

1000

0

- 1nug szse+u4 [ 25
4308+ 0.0
-38.4+ 0.0

0

50 00

TP delay [ns]

TVC(cbch) (2,4,12
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1000 [~

T, r1ze+05 / 25
po 4295+ 0.0
pl -34.58 + 0.00
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A~ 1L oule+ud [ 25
= po 4249+ 0.0
p1 -34.6 + 0.0

C =28.90 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

-1 nuz.0z3e+u4 / 25
- pO 4278+ 0.0
pL -35.96 + 0.00

TP delay [ns]

TVC(c,b ch) (24,9

T naizy1e+us / 25
pO 4311+ 0.0
p1 -37.29+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

1 nuiz sgbe+U5 / 25
pO 4282+ 0.0
pl -35.04 + 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (2,4,2)

X~ 1L 8z9e+U4 [ 25
F-. po 4257+ 0.0
[ p1 -35.4+ 0.0

3000

TP delay [ns]

TVC(cbch) (24,6

1000

T nu,Z1ve+u4 | 25
- pO 4290+ 0.0
- pl -36.88 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1 nuiL 3oBe+U6 / 25
po 4322+ 0.0
p1 -37.08+ 0.00

TP delay [ns]

TVC(cbch) (24,14

T g 5zze+05 | 25
pD 4285+ 0.0
pl -35.11 + 0.00
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B po 4281+ 0.0
pL -36.44 + 0.00

TP delay [ns]

TVC(c,b ch) (2 4,7

= 1nun 375e+ud [ 25
= po 4285+ 0.0
p1 -36.36 + 0.00
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TP delay [ns]

TVC(c,b ch) (2,4,

SRR bb4e+U6/25
po 4326+ 0.0
-37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

T nugz15e+U5/ 25
pO 4288+ 0.0
p1 35+ 0.0

TP delay [ns]
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0 = 00 -
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-34.53+ 0.00
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2000~ ]
-
oo C = 28.96 [ps/ch] ™, 1]
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (2, 5 12)
T inug,z1oe+u4 / 25
2000 [, pO 4286+ 0.0
pl -34.86 + 0.00
3000 - 7
2000 - 7
1000 - 7
1 1 -
50 100

TVC(cbch) (2,50

A~ 1 nui Ssoe+u4 [ 25
e, po 4275+ 0.0
p1 -35.92:+ 0.00

TP delay [ns]

TVC(cbch) (2,54

-1z zobe+ud | 25
- pO 4249+ 0.0
p1 -36.46+ 0.00
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TP delay [ns]

TVC(c,b ch) (2 55

“nu1/8e+u4 [ 25
- pO 4261+ 0.0
pL -37.06+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

-1 nui/ puBe+Us / 25
- pO 4286+ 0.0
p1 -34.42 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

71 nuis.qu4e+U5 / 25
= 4290+ 0.0
-33.98+ 0.00

[C=29.43[ps/ch] % 1]
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TVC(cbch) (2,56

X~ 1L bz1e+U4 [ 25
F-. po 4283+ 0.0
[ p1 -36.66+ 0.00

3000

- iy 131e+04 / 25
- pO 4261% 0.0
[ pl -36.04 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

T L zzze+06 / 25
= po 4297+ 0.0
[ p1 -34.88 + 0.00

TP delay [ns]

TVC(Cbch) (2, 5 14

T spre+u5/25
= pD 4299+ 0.0
L pl -34.92+ 0.00
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B po 4283+ 0.0
pL -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 57

-1 nuz.a38e+US | 25
po 4265+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T bue+u6/25
4297+ 0.0
-34.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2, 5 15

-1 nug zoge+us / 25
= po 4284+ 0.0
p1 -34.65 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0)
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AT nui rs1e+04 /25
po 4258+ 0.0
pl -35.36+ 0.00
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- 1 i 4p8e+04 / 25
- pO 4321% 0.0
pl -36.16+ 0.00
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1000 C 7]
1 1 -
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TVC(eb.ch)=(2,6,8)
~nu lple+ud / 25
4000 fe, pD 4305+ 0.0
-34.79+ 0.00
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2000~ 7]
wor C =28.75 [ps/chl ™, 7]
1 1 -
0 50 00
TP delay [ns]
TVC(c,b Ch) (2, 6 12)
-1 nun,uuye+ud / 25
4000 = po 4281+ 0.0
p1 -32.9+ 0.0
3000 [ 7]
2000 7
woor C = 30.39 [ps/ch] ™. 1
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TVC(cbch) (2,6,1

AT nuLsroe+ud [ 25
- po 4266+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c,b ch) (2 6,5

- nui 3rye+u4 [ 25
- pO 4322+ 0.0
-34.92:+ 0.00

[ C =28.64 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

~ 1 nug sbae+ud / 25
- pO 4324+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (2,6,13

T nais 113e+ud [ 25
4287+ 0.0
-34.65+ 0.00

I C =28.86 [ps/ch]
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X~ 1w 11ze+u4 [ 25
__ po 4275+ 0.0
o pl -36.16+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

1000

= Ui bobe+u4 / 25
- pO 4317+ 0.0
[ pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2, 6 10

1000

~1nu,3u1e+U5 / 25
- po 4342+ 0.0
[ pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (2,614

pD
pl

Tz, rzse+04 | 25
4292+ 0.0
-35.28 + 0.00
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AT 1o rze+ud [ 25
o po 4280+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

- nui /vle+u4 / 25
- pO 4320 0.0
p1 -34.87+ 0.00

[ C =28.68 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

S g aze+u5/25
- pO 4340+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T nuign4se+ud [ 25
= 4300+ 0.0
-34.85+ 0.00

[ C =28.69 [ps/ch] ]

PR I S S |
50 100
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TVC(cbch) (2,7,0)

T Looe+ud /25
pO 4261+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (27,4

S rnuaLBu/e+u4 / 25
pO 4245+ 0.0
p1 -34.91+ 0.00

[ C=28.65[ps/ch[N,_ 7
% o
TP delay [ns]

TVC(cbch) (2 7,8

T z.55e+05/ 25
po 4264+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (2,7,12

T gz roe+U5 / 25
pO 4270+ 0.0
pl -36.43+ 0.00
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TVC(cbch) (2,7,1)

AT 1 nuz.loze+ud [ 25
po 4269+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

- 1nuz.419e+04 / 25
pO 4246+ 0.0
pL -34.91% 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

- rna Be+U5 /25
pO 4270+ 0.0
pL -34.63 0.00

TP delay [ns]

TVC(cbch) (2,7,13

T 1 nup.zz9e+U5 | 25
pO 4261+ 0.0
pl -35.49+ 0.00

TP delay [ns]
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1000

TVC(cbch) (2,7,2)

A7 1 nuig 3o0e+04 / 25
- po 4283+ 0.0
L pl -37.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

-1 Z84e+04 | 25
pO 4274+ 0.0
pl -35.42 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

T 1nuiz,urpe+U6 / 25
DO 4265+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (2,7,14

~ 1o, 1 38e+U5 / 25
pD 4269+ 0.0
pl -35.88+ 0.00

PR SR T
50 100
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1000
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1000

TVC(cbch) (2,7,3)

AT 1 nuws.4yse+ud [ 25
po 4280+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

-1 nug 2yze+us / 25
e, pO 4265+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

AN u45e+u6/25
po 4283+ 0.0
p1 -35.23+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

-1 nuir.4u5e+U5 / 25
po 4278+ 0.0
p1 -36.29 + 0.00

TP delay [ns]
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3000

2000

1000

TVC(cbch) (2,8,0)

A~ 1 nuiL avae+ud [ 25
po 4274+ 0.0
p1 -35.36+ 0.00

TP delay [ns]

TVC(cbch) (28,4

- iU S533e+U4 [ 25
po 4288+ 0.0
pl -34.74 + 0.00

[ C=28.78 [ps/ch] ™, 1]
o+ o
TP delay [ns]
TVC(cbch) (2 8,8

-9 sae+ud [ 25
po 4290+ 0.0
p1 -36.16+ 0.00

TP delay [ns]

TVC(cbch) (2,812

po
p1

-y usze+Us / 25
4316+ 0.0
-36.02+ 0.00

TP delay [ns]
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1000

TVC(cbch) (2,81)

o Laverud | 25
pO 4292+ 0.0
pL -36.05 & 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

[ C=29.48 [ps/ch] ™ 7]

- nui yzze+u4 [ 25
pO 4283+ 0.0
pL -33.92:+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

~ 1 nui 3bobe+us / 25
po 4286+ 0.0
p1 -35.26 £ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

T inuigsz1e+U5/ 25
4300+ 0.0
-36.22+ 0.00

TP delay [ns]

TVC(cbch) (2,8,2)

4000

2000

1000

X~ 1L bzze+U4 [ 25
- po 4294+ 0.0
[ p1 -35.37+ 0.00
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TP delay [ns]
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1000

FC =29.13 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10
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2000

1000

T, 3/9e+04 [ 25
- pO 4300+ 0.0
[ p1 -34.33+ 0.00

- Lz /ae+U6 / 25
pO 4300+ 0.0
pL -34.77 + 0.00

- C = 28.76 [ps/ch]
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TP delay [ns]

TVC(Cbch) (2, 8 14
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-36.05+ 0.00
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A~ 1 nuig, lose+ud | 25
- po 4280+ 0.0
pL -33.87+ 0.00

[ C=29.53 [ps/ch] > 1
_L L

TP delay [ns]

TVC(c,b ch) (2 8,7

U, 713e+U5 / 25
[es po 4310+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T, i/be+U6/25
k. pO 4319+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

~ 1 nuy gbae+U5 / 25
4323+ 0.0
-37.34+ 0.00

TP delay [ns]
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TVC(cbch) (2,9,0

K™ 1nuioyre+ud /25
— po 4215+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (29,4

T ruz0rse+u4 [ 25
- pO 4265+ 0.0
p1 -37.46+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 9,8

© L 31oe+U5 / 25
= pO 4261+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (2,9,12

© i, rsse+U5 / 25
pO 4256+ 0.0
p1 -36.5+ 0.0

TP delay [ns]
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po 4233+ 0.0
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TP delay [ns]

TVC(c,b ch) (2 9,5

-1 nu 3y3e+u4 [ 25
4271+ 0.0
-38.1+ 0.0

50 100
TP delay [ns]

TVC(c,b ch) (2 9,9

- ia1e+U5 ] 25
po 4265+ 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(cbch) (2,9,13

T nuigzoze+U5 [ 25
pO 4250+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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K™ 1 nui goze+ud / 25
po 4236+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (29,6

T rnu4.37e+04 125
pO 4260+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (2, 9 10

T 1L z33e+U6 / 25
po 4283+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(cbch) (2,914

-1 nuig,poye+us / 25
pD 4261+ 0.0
-36.96 + 0.00

TP delay [ns]
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TVC(c,b ch) (2 9,7

-1 nui 483e+U5 / 25
- pO 4289+ 0.0
pL -38.02:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 9

T 4use+u6/25
pO 4279+ 0.0
-35.69 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

T nugB1se+us / 25
pO 4255+ 0.0
p1 -36.19+ 0.00

TP delay [ns]
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TVC(Cbch) (2, 10 4

- iU 483e+U4 [ 25
== po 4255+ 0.0
pl -35.18 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,10,8

1 nuiLu4pe+U5 / 25
- pO 4276+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

T b.93e+U5/ 25
po 4289+ 0.0
pl -35.48+ 0.00
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-34.47 + 0.00

[ C =29.01[ps/ch] 7]
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pL -37.17 + 0.00
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pL -34.43+ 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A~ nui ag4ze+04 | 25
= po 4236+ 0.0
p1 -35.59+ 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

T sle+ud /25
- pO 4246+ 0.0
p1 -34.79:+ 0.00

TP delay [ns]

TVC(cbch) (211,8

L Usbe+U5 / 25
4270+ 0.0
-36.6+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (2,11,12

X~ 1 g ysse+Us / 25
= PO 4284+ 0.0
pl -35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

AT 1 nuiL, robe+u4 / 25
- po 4251+ 0.0
p1 -36.16 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

-1 i bsse+u4 / 25
e pO 4254+ 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(cbch) (2,11,9

1 nuw, /8Ye+U5 / 25
po 4280+ 0.0
p1 -35.81+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 11 13

T inu fu1e+u5/ 25
pO 4286+ 0.0
pl -35.21+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,11, 2)

X~ 1 L gEbe+u4 [ 25
- po 4260+ 0.0
L p1 -36.3+ 0.0

3000

TP delay [ns]

TVC(chh) (2, 11 6

- 11Uz bobe+u4 / 25
e pO 4263+ 0.0
[ p1 -35.86+ 0.00

TP delay [ns]

TVC(ebch)=(2, 11, 10

X~ 1L bo3e+U6 / 25
po 4285+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(c,b Ch) (2,11, 14

X~ 1 nuig use+Us / 25
- po 4295+ 0.0
L pl -36.1+ 0.0

P B R
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

A~ 1 nuizusse+ud | 25
- po 4261+ 0.0
pL -35.89:+ 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

=11 4b4e+05 / 25
po 4269+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(Ebeh=(2, 11, 11

T nuis21e+U6 / 25
po 4268+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 15)

TinusEs/e+us /25
po 4287+ 0.0
-35.64+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,12,0)

AT 1nui g roe+04 /25
4258+ 0.0
-37.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,124

-1 i BY4e+04 / 25
- pO 4280+ 0.0
pl -36.26+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

T nun.3rpe+u4 / 25
= po 4259+ 0.0
-34.79 + 0.00

[ C =28.74 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (212,12

pO

p1

T .9ze+u5/ 25
4298+ 0.0
-36+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

A1 1 94e+ud | 25
P po 4271+ 0.0
pL -38.17+ 0.00

TP delay [ns]

TVC(cbch) (2,125

-1 nui ylse+ud / 25
- pO 4292+ 0.0
pL -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 12

"1 nup.4ble+u5 / 25
po 4277+ 0.0
pl -35.55 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,12,13

Ao,

193e+U5 / 25
4280+ 0.0
-34.76 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(CbCh) (2,12,2)

A~ nuig 1zoe+04 /25
_- po 4280+ 0.0
L pl -37.4+ 0.0

3000

-
1 1=

50 100

TP delay [ns]

TVC(cbch) (2.12,6

-1 nuLys3e+ud / 25
pe, pO 4298+ 0.0
[ pl -36.62+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

i 184e+U6 / 25
— po 4279+ 0.0
- pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (212,14

1000

pD
pl

~ 1 nu.yoze+ud | 25
4302+ 0.0
-35.82+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT 1 nuiz,184e+U4 [ 25
- po 4278+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(c, bch) (2,12,7

- 1nui 421e+05 / 25
pO 4325 0.0
pL -37.52:+ 0.00

. =
50 100
TP delay [ns]

TVC(cbch) (2, 12 11

-1 nuy.yuoe+Us / 25
- pO 4284+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(cbch) (212,15

Tinug1s/e+U5/ 25
4282+ 0.0
p1 -34.97 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (2, 13 0)

T rnuiLsue+u4 /25
= pO 4265 0.0
p1 -36.77+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 4

- rnu351e+u4 [ 25
- po 4307+ 0.0
pl -40.02 + 0.00

TP delay [ns]

TVC(cbch) (2,13,8

- iz s2ue+ud | 25
e, pD 4264+ 0.0
p1 -35.99+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

-1 nuizusse+Us / 25
po 4285+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (2,13,1)

AT 1 nuiLozze+u4 [ 25
= po 4282+ 0.0
p1 -36.5+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (2, 13 5

T nu 33e+04 / 25
F 4309+ 0.0
-39.5+ 0.0

50 150
TP delay [ns]

TVCEbeN)=(2 13,9

~ 1 nuis.ag3e+Us / 25
- pO 4278+ 0.0
p1 -34.71+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 13 13

T a3 /9e+U5/ 25
pO 4280+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

X~ 1L Obe+U4 [ 25
F-. po 4272+ 0.0
[ p1 -36.46 £ 0.00

3000

TVC(Cbch) (2,13,3)

A~ 1 nuiLysse+ud / 25
4287+ 0.0
pL -36.98:+ 0.00

4000 [u

po

3000

2000

1000

TP delay [ns]

TVC(Cbch) (2, 13 6

-1 nuz.yyze+ud | 25
e pO 4319+ 0.0
[ pl -39.61+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 7

TP delay [ns]

TVC(e b eh)=(2, 13, 10

1 nuig, 3yge+Us / 25
= po 4287+ 0.0
[ p1 -35.22 + 0.00

-1 nuw.ulse+ud / 25
F po 4318+ 0.0
p1 -39.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 14

~1nuiL4sze+05 / 25
pD 4283+ 0.0
pl -35.86 + 0.00

TP delay [ns]

3000

2000

1000

TP delay

TVC(ehoh)=(2, 13, 11

4000 o pO

1 -
50 00

[ns]

71 nuiL 3U0e+U6 / 25
4285+ 0.0
pl -36.09 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (2, 13 15

4000 [,

[ns]

- 1 1L bbAe+U5 | 25
4283+ 0.0
pL -35.57+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 14 0)

T rnuLos1e+U4 /25
- pO 4233+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 4

T 13ze+04 / 25
4244+ 0.0
-36.9+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,14,8

T rnuiLus1e+Us / 25
= pO 4286+ 0.0
pl -37.4+ 0.0

TP delay [ns]

TVC(Cbch) (2, 14 12

T g.18e+U5/ 25
po 4264+ 0.0
pl -35.58 + 0.00

P ISR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

AT 1L (oe+u4 [ 25
- po 4237+ 0.0
p1 -36+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 14 5

- nu 329e+u4 [ 25
e pO 4273+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVCEbeh)=(2, 14,9

1 nuiLz04e+U6 / 25
— pO 4297+ 0.0
p1 -37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

T nuisagse+us / 25
- pO 4267+ 0.0
pl -36.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 =
3000
2000

1000

TVC(CbCh) (2,14,2)

X~ 1L Bl/e+u4 [ 25
=, po 4236+ 0.0
L pl -35.79+ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 14 6

© 1 nug,usye+u4 / 25
- pO 4277+ 0.0
- pl -36.55 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

1 nuiLbuge+U6 / 25
= po 4305+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14

-1 nuig,usse+Us / 25
pD 4265+ 0.0
pl -36.15+ 0.00

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

= po 4239+ 0.0
p1 -34.76 + 0.00

A~ nuiLszze+ud [ 25

TP delay [ns]

TVC(c,b Ch) (2, 14 7

= po 4269+ 0.0
p1 -36.07 + 0.00

=1 nuig 150e+U5 / 25

TP delay [ns]

TVC(eheh)=(2, 14, 11

E pO 4310+ 0.0
pL -37.32+ 0.00

1 nuiL.499e+U6 / 25

TP delay [ns]

TVC(cbch) (2, 14 15

e pO 4263+ 0.0
p1 -35.76 + 0.00

1 nu.Usre+Us / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2,15,0)

A1,

rose+u4 /25
4234+ 0.0
-35.69+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 4

S iz 1/e+04 [ 25
4249+ 0.0
pl -35.68 + 0.4

foee. pO
-35.68 + 0.00

- C =

1 1 -

50 100

TP delay [ns]
TVC(c,b, ch) (2, 15 8

== pD

-1 nug z93e+u4 [ 25
4272+ 0.0
-36.71+ 0.00

p1

TP delay [ns]

TVC(Cbch) (2, 15 12

po
p1

- 1z 2upe+U5 / 25
4271+ 0.0
-35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000 5,

3000

2000

1000

TVC(chh) (2,15,1)

Ao,

e, po
pL

r91e+u4 [ 25
4245+ 0.0
-35.56 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 5

=g,

ule+u4 / 25
4244+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(ebeh)=(2 15,9

X~ g

po
pl

Yoe+us5 / 25
4286+ 0.0
-35.94 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 15 13

T nuiLo3ve+u5 / 25
4261+ 0.0
-34.83+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000 [,
3000
2000

1000

1000

0

TVC(CbCh) (2,15,2)

= PO

pl

X~ 1 nuiz.uUse+u4 | 25
4249+ 0.0
-35.6 + 0.0

TP delay

TVC(Cbch) (2, 15 6

[ns]

T 38/e+04 [ 25
4259+ 0.0
pl -35.88 + 0.00

= "
[ C=27.87 [ps/ch
5(') 10'0
TP delay

TVC(cbch) (2, 15 10

pO
pl

[ns]

Tnu 1.5e+U6 /25
4311+ 0.0
-37.19+ 0.00

1
100

TP delay

TVC(c,b Ch) (2, 15 14

pD
pl

[ns]

- o 3.41e+U5 /25
4276+ 0.0
-35.32+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

o po

A1 nuiz137e+U4 [ 25
4256+ 0.0
pL -35.64 + 0.00

TP delay

TVC(c,b Ch) (2, 15 7

C po
pl

[ns]

~ U BZbe+u4 [ 25
4269+ 0.0
-36.05+ 0.00

TP delay

TVC(ehch)=(2, 15, 11

T nan1.uye+u6 / 25
4284+ 0.0
pl -35.37 + 0.00

pO

[ns]

TP delay

TVC(cbch) (2, 15 15

[ns]

T inuis g ze+U5/ 25
4259+ 0.0
-33.18 + 0.00

[ C=30.14 [ps/ch] ™=

PR R SR |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

TVC(cbch) (3,0,0)

e po

X~ 1L suse+u4 [ 25
4267+ 0.0
-38.14 + 0.00

pl

TP delay [ns]

TVC(cbch) (30,4

- rnuz.4z0e+04 [ 25
4279+ 0.0
-37.63 0.00

b pO
pL
3000 [~ ]
2000~ ]
1000~ C ]
0 = 00
TP delay [ns]
TVC(cbch) (3 0,8)
T rnug s18e+u4 / 25
4000 o pO 4224+ 0.0
p1 -34.02:+ 0.00
3000 7]
2000~ ]
wor C =29.39 [ps/chl™, 7
1 1 -
0 50 100
TP delay [ns]
TVC(cbch) (3,0,12)
T nug syze+Us / 25
2000 [ pO 4202+ 0.0
p1 -35.58 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

e, po

X1 L 914e+U4 | 25
4235+ 0.0
-36.66.+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 0,5

~1nu4z1e+04 [ 25
4269+ 0.0
-36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3,0,9

PSRN

r2e+U5/25
4259+ 0.0
-34.59 + 0.00

[ C =28.91 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

T nuiz z03e+U5 / 25
4277+ 0.0
-35.67 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

= "0
L pt
3000:— ]
2000:— _
1000:— C=2951 [pS/Ch] - _
L = 00 =

4000

3000
2000

1000

TVC(cbch) (3,0,2)

1000

= po

X~ 1 iz 3use+u4 [ 25
4255+ 0.0
-37.19+ 0.00

pl

1000

L L
50 100
TP delay [ns]
TVC(cbch) (3,0,6)
“1nuig, rebe+U4 [ 25
- pO 4293+ 0.0
b pl -38.06::‘
L C = 26.27 [pslc .
1 L ™,

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

1 nuiL3Y3e+U6 / 25
4244+ 0.0
-33.89+ 0.00

TP delay [ns]

TVC(cbch) (3,0,14

= P"

pl

Tz 33/e+U5 /25
4288+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

o po

A”rnun Zoe+ud [ 25
4263+ 0.0
-37.16+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

S nuai 1/ /e+U5/ 25
4297+ 0.0
-37.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (3, O

pO
pl

T, 114e+u6125

4254+ 0.0
-34.62+ 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (3, O 15

T inuigzg1e+U5 / 25
4269+ 0.0
-34.64+ 0.00

[ C =28.87 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0)

X~ 1 syze+U4 [ 25
4242+ 0.0
-37.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (31,4

- rnuizl14e+04/ 25
== po 4261+ 0.0
pl -36.11 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 1,8

<. 7 rae+ud | 25
e, pD 4248+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (31,12

T rnuigysse+us / 25
= po 4263+ 0.0
pl -34.63+ 0.00

I C =28.88 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

AT 1 nuiz, 1obe+u4 / 25
po 4250+ 0.0
p1 -37.03 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1y, 1aae+0d [ 25
pO 4248+ 0.0
pL -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

~ 1 nuis, 78be+U5 / 25
pO 4250+ 0.0
p1 -36.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

TinuiLyl/e+u5/ 25
pO 4278+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

X~ 1z 0L/e+u4 [ 25
- po 4241+ 0.0
L pl -36.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,1,6

-1 boge+u4 [ 25
e pO 4267+ 0.0
[ pl -36.25+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 1, 10

Tl 14/e+06 / 25
- po 4241% 0.0
L p1 -34.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

T 1nuizurve+Us / 25
F- pD 4263+ 0.0
L p1 -35.64+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

A~ 1w 2ave+Ua | 25
o po 4262+ 0.0
pL -36.2:+ 0.0

TP delay [ns]

TVC(c,b ch) (3 1,7

= 1 nui O33e+05 / 25
= po 4276+ 0.0
p1 -36.64 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, l

- AL zu/e+u6/25
= po 4259+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

Tinan 301e+U5 /25
- po 4270+ 0.0
p1 -35.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

A~ 1 nuiL oboe+u4 / 25
= po 4228+ 0.0
p1 -35.72:+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- i yzge+ud | 25
- pO 4236+ 0.0
p1 -35.61+ 0.00

50 5
TP delay [ns]

TVC(eb,oh)=(3, 2,8

T rnuig.Usze+u4 | 25
= po 4280+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T, rz1e+05 /25
pO 4279+ 0.0
-35.44+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

AT 1 nuiLbs3e+u4 / 25
po 4251+ 0.0
p1 -36.79 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

CnuZze+u4 [ 25
4264+ 0.0
-37+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 2,9

T nuigp13e+U5 / 25
pO 4289+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

T nuiLa30e+U5 / 25
pO 4282+ 0.0
pl -35.79+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

X~ 1L ysse+u4 [ 25
[, po 4258+ 0.0
L pl -37.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

- rnuzbyle+ud [ 25
- pO 4262+ 0.0
[ pl -36.44 + 0.00

3000

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

1 nuiLbE8e+U6 / 25
= po 4322+ 0.0
F pl -38.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

T 1nuiLpule+Us / 25
pD 4274+ 0.0
-35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,23

AT 1 nuiz, 19se+u4 / 25
pm- po 4258+ 0.0
p1 -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

-1 nug.4nze+u4 [ 25
4263+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(eheh=(3, 2,

T 4Ube+U6/25
pO 4314+ 0.0
p1 -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

1 nuiz.4z9e+U5/ 25
po 4287+ 0.0
p1 -35.29 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0)

T p41e+04/25
4248+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (33,4

[ C =29.15 [ps/ch]

- iU 4y3e+ud [ 25
== po 4267+ 0.0
pl -34.31+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

-1 Ssae+0d [ 25
e, po 4269+ 0.0
p1 -35.28+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T rnug.usre+us / 25
po 4285+ 0.0
pl -35.85+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,3,1)

A~ 1 nuiLbloe+u4 / 25
po 4258+ 0.0
p1 -36.62 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

-1 nuz.031e+u4d / 25
pO 4282+ 0.0
pL -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nu 530e+U5 / 25
po 4270+ 0.0
p1 -34,68 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T nu s5ze+U5 / 25
pO 4287+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (3,3,2)

A~ 1 nui uae+ud | 25
-, po 4273+ 0.0
[ p1 -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

T 3nze+ud [ 25
- pO 4290+ 0.0
[ pl -35.63+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

T nuiL312e+06 / 25
po 4294+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(cbch) (3,314

T 3/e+U5 /25
pD 4272+ 0.0
pl -35.95+ 0.00

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

A~ nuiLBr3e+ud [ 25
Fem, po 4270+ 0.0
pL -34.63+ 0.00

C =28.88 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

Ui Z3he+us | 25
po 4302+ 0.0
p1 -34.61+ 0.00

[ C=28.89 [ps/ch] %, ]
o+ -
TP delay [ns]

TVC(c,b ch) (3, 3

T, /5=e+u6/25
pO 4293+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

71 nuis 15ye+U5 / 25
po 4292+ 0.0
p1 -36.46 + 0.00

TP delay [ns]



4000
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0)

X~ 1w bibe+U4 / 25
4255+ 0.0
-36.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (34,4

S i 1bre+ud [ 25
=5 po 4288+ 0.0
pl -36.17 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 4,8

1L 8Ype+U5 / 25
pO 4264+ 0.0
p1 -34.38 % 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12

po
p1

~ 1, 3u4e+U5 / 25
4288+ 0.0
-36.44 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,1

A" 1 i Boae+ud | 25
e, po 4251+ 0.0
pL -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

~nug 1ble+u4 / 25
- pO 4294+ 0.0
pL -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

1 nuiL Zzgye+u6 / 25
- pO 4275+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(c,b Ch) (3, 4 13

pO
p1

Tonan 3.9ze+u5 /25
4276+ 0.0
-37.26+ 0.00

TP delay [ns]
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1000
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2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (3,4,2)

X~ 1L Yr1e+u4 [ 25
= po 4246+ 0.0
L pl -35.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (34,6

T b.46e+04 / 25
- pO 4302+ 0.0
- pl -37.48 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

1 nuz,208e+U6 / 25
po 4280+ 0.0
p1 -35.62+ 0.00

TP delay [ns]

TVC(Cbch) (3, 4 14

~ vy, 158e+U5 / 25
4276+ 0.0
-36.87 + 0.00

TP delay

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1 nuzgzze+04 1 25
- po 4267+ 0.0
p1 -36.95 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

= Ui Buze+US / 25
[Foses. po 4303+ 0.0
p1 -35.98 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T, 151e+u6/25
pO 4284+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

T nu. zg1e+U5 / 25
4277+ 0.0
-36.08 + 0.00

1
100

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (3,5,0)

A7 1 nui ouze+u4 /25
po 4260+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i, 7uge+ud / 25
pO 4273 0.0
p1 -35.46+ 0.00

e ]
% T
TP delay [ns]
TVC(cbch) (3 5,8) —
T nup, r51e+U4 5
e pO 42%:‘
-35.06 + 0.00
rC=28.53[ps/ch] N\ 7
% i
TP delay [ns]
TVC(c,b ch) (3, 5 12

~ 1 up.514e+05 / 25
po 4344+ 0.0
pl -36.31+ 0.00

TP delay [ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (3,51)

A” 1 nuiLboye+ud [ 25
po 4287+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (3 55

[ C =28.75[ps/ch] 7

~ 1 nuiLbrbe+ud / 25
4262+ 0.0
-34.78 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

[ C =28.33 [ps/ch]

T nuw. 718e+U5 / 25
po 4318+ 0.0
-35.3+ 0.0

50

1
100

TP delay [ns]

TVC(cbch) (3,5,13

T nu.usse+us / 25
pO 4336+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,2)

K™ 1 nuiLgule+ud /25
po 4292+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (3,56

- C = 29.01 [ps/ch]

- bzoe+u4 [ 25
po 4264+ 0.0
pl -34.47 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

1 nuiL488e+U6 / 25
po 4326+ 0.0
p1 -34.8+ 0.0

- C =28.73 [ps/ch]

0

4000

3000

2000

50

1
100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T g, ro3e+U5 / 25
pD 4336+ 0.0
p1 -36.8+ 0.0

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

AT 1L yuye+ud [ 25
po 4299+ 0.0
p1 359+ 0.0

TP delay [ns]

TVC(c,b ch) (3 57

[ C =29.08 [ps/ch]

- 1nui 93/e+u5/ 25
pO 4272+ 0.0
p1 -34.38+ 0.00

_L

TVC(c,b ch) (3, 5

50 1(;0
TP delay [ns]

[ C =28.66 [ps/ch]

T 4z/e+u6/25
pO 4332+ 0.0
-34.89 + 0.00

50

1
100

TP delay [ns]

TVC(C, bch) (3,5,15

-1 nug.y4ae+U5/ 25
po 4347+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,0

X~ 1 zsbe+U4 [ 25
= po 4232+ 0.0
-34.26 + 0.00

[ C =29.19 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (36,4

S i 1bre+u4 [ 25
=5 po 4301+ 0.0
pl -36.81+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

1 nuiz,u40e+05 / 25
po 4285+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

~ 1y 1u4e+05 / 25
po 4269+ 0.0
pl -35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,61

AT 1 nuiLSooe+u4 [ 25
peee. po 4244+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

“nuZ1/e+u4 [ 25
- pO 4318+ 0.0
pL -37.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nuiL b48e+U6 / 25
pO 4300+ 0.0
pl -36.08 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

T 1nun5.49e+U5 /25
pO 4283+ 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

A~ 1 nuiL4s1e+04 /25
-, po 4262+ 0.0
[ p1 -35.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

Sy 91/e+u4 [ 25
pO 4317+ 0.0
p1 -36.96 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

1 nuiL Yobe+U6 / 25
po 4290+ 0.0
p1 -35.14 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

- 1o, 1 14e+U5 / 25
pD 4295+ 0.0
p1 -36.46 + 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

A~ 1 iz 9uye+ud | 25
- po 4249+ 0.0
pL -34.69+ 0.00

[ C =28.83 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nu.498e+U5 / 25
= 4318+ 0.0
-37.9+ 0.0

50 160
TP delay [ns]

TVC(c,b ch) (3, 6

T 5Ube+U6/25
pO 4304+ 0.0
-36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

- g 5ae+U5 1 25
pO 4286+ 0.0
-35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

X~ 1 srse+U4 /25
po 4254+ 0.0
p1 -35.28+ 0.00

TP delay [ns]

TVC(cbch) (37,4

T LB/ re+u4 [ 25
pO 4264+ 0.0
p1 -35.58:+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 7,8

~ 1L 4o1e+U5 / 25
po 4270+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

1 nup.zoze+U5 / 25
pO 4273+ 0.0
pl -34.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,7,1

A 1nuiLS aevud | 25
e, po 4259 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nu 1ube+u4 / 25
e, pO 4251+ 0.0
pL -34.88+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nuiL 198e+U6 / 25
po 4287+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

T nug sble+u5/ 25
pO 4259+ 0.0
pl -34.98 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

TP delay [ns]

TVC(cbch) (37,6

X~ 1L 83ve+u4 [ 25
-, po 4276+ 0.0
[ p1 -36.19+ 0.00

3000

-1y 230e+04 [ 25
- pO 4269+ 0.0
[ pl -35.95+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

1000

0

T 1y/e+u6 /25
- 4297+ 0.0
L -36.6 + 0.0

TP delay [ns]

TVC(Cbch) (3, 7 14

- 1 1ug.yooe+Us / 25
F pD 4259+ 0.0
L p1 -34.4+ 0.0

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

X1z Z11e+ud | 25
e po 4274+ 0.0
pL -35.49  0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 U bble+us / 25

= po 4279+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 7
(AL db/e+U6/25

E pO 4293+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

1 nu UBse+Us / 25

E pO 4266+ 0.0
p1 -35.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

X~ 1L yure+u4 [ 25
po 4281+ 0.0
p1 -37.45+ 0.00

TP delay [ns]

TVC(cbch) (3,84

- i b14e+04 / 25
pO 4281% 0.0
p1 -35.44 + 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 8,8

1L 2uze+U5 / 25
pO 4309+ 0.0
-38.3+ 0.0

1
50 00

TP delay [ns]

TVC(Cbch) (3, 8 12

T rug.g4e+05 / 25
po 4288+ 0.0
pl -36.12+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

A 1uILG/ U4 25
e, po 4256+ 0.0
pL -35.6+ 0.0

TP delay [ns]

TVC(c,b ch) (3 8,5

-1 nui yzee+u4 [ 25
e, pO 4267+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

T a1 /8e+u6 / 25
- po 4313+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

T nui, ro4e+U5 / 25
pO 4285+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3,8,2)

K™ 1 nuig zsae+04 | 25
- po 4259+ 0.0
L pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

-1 gole+ud / 25
4274+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 8, 10

1000

0

Tl r4e+U6 /25
- po 4317+ 0.0
[ p1 -37.8+ 0.0

3000

TP delay [ns]

TVC(cbch) (3,814

T 1w, ru4e+U5 / 25
e pD 4284+ 0.0
[ p1 -36.33+ 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

e po 4290+ 0.0
pL -37.22.+ 0.00

AT nuig, szee+u4 [ 25

TP delay [ns]

TVC(c,b ch) (3 8,7

po 4292+ 0.0
p1 -36.11+ 0.00

“1nu /41e+05/ 25

TP delay [ns]

TVC(c,b ch) (3, 8

pL -37.92:+ 0.00

= pO

g 9/1e+u6/25
4321+ 0.0

TP delay [ns]

TVC(c,b ch) (3, 8 15

k. pO 4292+ 0.0

1 nu, sobe+us / 25

35.65 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (3,9,0

K™ 1 nun 3sre+04 [ 25
e, po 4273+ 0.0
p1 -35.58+ 0.00

TP delay [ns]

TVC(cbch) (39,4

- i oz8e+u4 [ 25
=5 po 4266+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (3 9,8

-1y fsse+ua [ 25
b pD 4270+ 0.0
p1 -34.92 % 0.00

[ C =28.64 [ps/ch]

1
50 00

TP delay [ns]

TVC(Cbch) (3, 9 12

T rnun.p3/e+Us / 25
3 po 4321+ 0.0
pl -36.44 + 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (3,91

A1 L 4ase+Ud | 25
- po 4291+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

=1 nui yyze+u4 [ 25
- pO 4275+ 0.0
pL -36.08+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

T z7e+U5 /25
po 4276+ 0.0
p1 -35.37 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 9 13

S rnunyr4e+ud [ 25
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~ 1 nuzgple+ud / 25
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pL -33.91# 0.00

[ C =29.49 [ps/ch] ~.
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TVC(c,b ch) (4 1,9

~ 1 nuiz.a48e+U5 / 25
- pO 4301+ 0.0
pl -36.31+ 0.00
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TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (6,0,2)

X~ 1 1L Bobe+u4 / 25
- po 4229+ 0.0
[ p1 -34.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (60,6

T Zor3e+u4 [ 25
- pO 4257+ 0.0
[ p1 -35.79+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 0, 10

1 nuiLbyve+Us / 25
4271+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (6,0,14

~ 1 nuiz4s4e+04 [ 25
- pD 4257+ 0.0
L pl -35.15+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A~ 1 nuiz, lobe+ud | 25
- po 4245+ 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(cbch) (6,0,7

- 1 nuz.gage+ud | 25
= po 4262+ 0.0
pl -34.78 + 0.00

[ C =28.75 [ps/ch]

_L

50 160
TP delay [ns]

TVC(c,b ch) (6, O

T wue+u5/25
4275+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6, O 15

- 5 0ve+ud | 25
- pO 4274+ 0.0
pL -35.96+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0

A~ 1 nui anse+ud [ 25
o, po 4237+ 0.0
p1 -36.92:+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

[ C =29.19 [ps/ch]

- iU, 793e+04 [ 25
= po 4235+ 0.0
pl -34.26 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 18

[ C =28.92 [ps/ch]

Ty .4/pe+04 [ 25
- pO 4254+ 0.0
-34.58 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (61,12

1z 2u0e+U5 / 25
== po 4253+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1nuiLBs1e+u4 /25
- po 4257+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

< nun Zsge+u4 [ 25
= po 4221+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

[ C =28.84 [ps/ch]

1 nuiLz40e+U6 / 25
= po 4277+ 0.0
p1 -34.67 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, l 13

T nuiLa3ve+U5 / 25
= pO 4248+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,1,2)

X~ 1L Ys1e+u4 [ 25
- po 4274+ 0.0
L pl -37.89+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

“ g 1zoe+u4 [ 25
- pO 4258+ 0.0
[ pl -36.08+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

© 1 nuiLb18e+U6 / 25
- po 4288+ 0.0
- pl -35.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T rnuiLz3se+Us / 25
4246+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

A~ 1 nuiLYobe+ud | 25
- po 4257+ 0.0
pL -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nun, b3e+U4 / 25
- pO 4247+ 0.0
p1 -34.76+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

SRR bdée+l}6/25
- po 4298+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

Tonanz.3e+05 /25
e pO 4252+ 0.0
p1 -35.58 + 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
A~ 1, 154e+04 [ 25 A1 Bsye+ud | 25 AT 1z zule+ud [ 25 A~ 1w zyae+Ud | 25

4000 e, PO 4262+ 0.0 4000 f po 4270+ 0.0 4000 __- po 4268+ 0.0 4000 po 4273+ 0.0
pl -37.44 + 0.00 pl -36.06 + 0.00 r pl -35.42+ 0.00 pl -36.49 + 0.00

3000

B 3000 - 3000 - 3000 B

2000 b 2000 B 2000 4 2000

1000 B 1000 1000 [ 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62, TVC(cbch) (62,6 TVC(c, bch) (62,

Tnu g l?zseﬂjd 125 Trnur :4)bye+l)4/25 Trnu,; 1)14e+U4 125 T l?i/EH)A/ZS
4000 e, po 42744 00 4000 e, DU 4280+ 0.0 4000 e, PO 4294£ 00 4000 po 4308+ 0.0
pl -35.91+ 0.00 pl -36.18 + 0.00 - pl -35.77+ 0.00 pl -36.22+ 0.00

3000 - - 3000 e 3000 L ] 3000 f -

2000 E 2000 - 2000 L ] 2000 - E

L 4 1000 - L ] [ ~ ]

1000f- w0 G = 27.95 [ps/ch] ] 1o00F C = 27.61 [ps/ch
1 ' 1 [ 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,2,8) TVC(eh.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ebe)=(6, 2, 1)
T nuz.a1ze+04 /25 - g zobe+us / 25 © 1 nuy.435e+U5 / 25 T a5 ze+05 / 25
4000 f, pO 4278+ 0.0 4000 fae, pO 4320+ 0.0 4000 fome, DO 4310+ 0.0 4000 fs p0 4325+ 0.0
Pl 3502+ 0.00 Pl -36.98: 0.00 L PL_ -3571% 0.00 Pl -36.64: 0.00

- 3000

3000 |- T 3000 - 3000

2000

2000 [~ 2000 - 2000

1000 1000 ] 1000

w0 C = 28.56 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 2 12) TVC(c,b Ch) (6, 2 13) TVC(c,b Ch) (6, 2 14) TVC(c,b Ch) (6, 2 15)
~ 1 nuz, suze+U5s / 25 T 1w buze+us / 25 ~ i, gooe+U5 / 25 T z31e+U5 /25
4000 pO 4265+ 0.0 4000 [ pO 4295£ 0.0 4000 [, PD 4280+ 0.0 4000 fFe, pO 4298+ 0.0
pl 3485000 Pl -36.56+ 0.00 [ Pl -3531%0.00 Pl 35724000

- 3000

3000~ T 3000 - 3000 .

2000 - - 2000 2000 - 2000

1000 1000 - 1000

000~ C = 28.69 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

A~ 1 nuiL4roe+04 /25
po 4258+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(cbch) (63,4

=9/ re+u4 [ 25
po 4292+ 0.0
pl -37.51+ 0.00

- C N
o =
TP delay [ns]
TVC(c,b ch) (6, 3 8

< Srserud [ 25
po 4295+ 0.0
p1 -36.03+ 0.00

TP delay [ns]

TVC(cbch) (6,3 12

Tonu 1 ge+u5/ 25
pO 4291+ 0.0
pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,1)

T L1e+ud /25
= pO 4264+ 0.0
p1 -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

=1 nui Yobe+ud / 25
- pO 4294+ 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

T nu 339e+U5 / 25
- po 4303+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

T nui zgbe+us [ 25
pO 4278+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,3,2)

TP delay [ns]

TVC(cbch) (63,6

-1 nuz 1b0e+04 / 25
- pO 4297+ 0.0
[ pl -36.17 + 0.00

A~ 1 nui sa1e+04 / 25
. po 4276+ 0.0
L pl -36.78 + 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 3, 10

1 nuiLb4ge+U6 / 25
- po 4325+ 0.0
[ pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (6,3 14

~ i 5zoe+U5 / 25
pD 4282+ 0.0
pl -36.11 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

A~ 1 nuiLbsye+ud [ 25

po 4276+ 0.0
pL -35.84 & 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

C1nuB.4/4e+04 [ 25
- pO 4304+ 0.0
p1 -35.71% 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

RIS 195e+u6/25
- po 4307+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

T inuznrye+u5 [ 25
pO 4296+ 0.0
p1 -36.32 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.4,0)

T roe+ud /25
pO 4258+ 0.0
p1 -36.02+ 0.00

TP delay [ns]

TVC(cbch) (64,4

T 3rze+04 [ 25
pO 4244+ 0.0
p1 -34.08:+ 0.00

[C=29.34[ps/ch] %, ]
o+ o
TP delay [ns]
TVC(cbch) (6 4,8

- s 2 e +ud [ 25
pD 4249+ 0.0
p1 -35.55+ 0.00

TP delay [ns]

TVC(cbch) (64,12

[ C=29.84 [ps/ch] ™ 7]

T zoze+U5 / 25
pO 4275+ 0.0
pl -33.52+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1 nuiL, fobe+u4 [ 25
= po 4236+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (6 4,5

- nurLblie+ud [ 25
- pO 4243+ 0.0
pL -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nuiLzg/e+u5 / 25
= po 4265+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

"1 nuy.1ose+ud / 25
Fome 4276+ 0.0
-34.65+ 0.00

[ C =28.86 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

A~ 1 nui s40e+04 / 25
- po 4251 0.0
L pl -36.14 £ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- nunLyzge+ud [ 25
e pO 4248+ 0.0
[ pl -35.32 0.00

TP delay [ns]

TVC(eb,ch)=(6, 4, 10

T, /7 (e+U5 [ 25
= po 4290+ 0.0
[ p1 -34.69 + 0.00

TP delay [ns]

TVC(cbch) (64,14

T nun.4r9e+04 [ 25
- pD 4283+ 0.0
[ pl -33.68+ 0.00

- C = 29.69 [ps/ch] ™. 1

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

A1 nuiz lole+ud [ 25
e po 4266+ 0.0
pL -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

= 1 nui, fuse+ud | 25
= po 4259+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T s/ye+u5/25
4281+ 0.0
-33.83+ 0.00

[ C=29.56 [ps/ch] . ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 4 15

- i 184e+U5 / 25
4279+ 0.0
-34.51+ 0.00

I C=28.97 [ps/ch] ]

PR R SR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1 suze+U4 [ 25
- po 4264+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(cbch) (6,54

[ C =29.25 [ps/ch]

- 1w 018e+u4 [ 25
== po 4256+ 0.0
pl -34.19 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

= Zooe+ud /25
= pD 4277+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(Cbch) (6, 5 12

T 1 yoe+u5/ 25
= po 4282+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

R U5 ae+U4 [ 25
- po 4275+ 0.0
pL -35.7:+ 0.0

TP delay [ns]

TVC(c,b ch) (6 55

[ C =29.39 [ps/ch] 7]

- U bbze+u4 / 25
== 4253+ 0.0
-34.03 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 59

~ 1 nuiz 3uze+U5 / 25
= po 4269+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inuzzyle+us/ 25
= pO 4305+ 0.0
pl -36.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (6,5,2)

X~ 1L 7use+u4 [ 25
- po 4287+ 0.0
[ pl -36.5+ 0.0

3000

TP delay [ns]

TVC(cbch) (6,56

FC=29.27 [ps/ich] ™. 1

- g, r8oe+u4 [ 25
fo, pO 4267+ 0.0
[ p1 -34.16 + 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

T 1nung.59e+U5 /25
- po 4292+ 0.0
- pl -35.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,5,14

-1 nuiLyose+Us / 25
4278+ 0.0
-35.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

[ C =28.70 [ps/ch]

AL 5a1e+U4 ] 25
- po 4270+ 0.0
pL -34.84 £ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

= nue, 7/ e+04 [ 25
= po 4269+ 0.0
p1 -35.08+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

RIS 191e+u6/25
- pO 4294+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

T nui b2ye+U5 [ 25
= pO 4293+ 0.0
p1 -36.02 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

X~ 1 suse+u4 [ 25
po 4258+ 0.0
p1 -35.42+ 0.00

TP delay [ns]

TVC(cbch) (66,4

T 1 pze+ud [ 25
pO 4242+ 0.0
p1 -35.02:+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (6 6,8

- bz1e+0d [ 25
po 4277+ 0.0
p1 -35.62:+ 0.00

TP delay [ns]

TVC(cbch) (6,6,12

~ i 5oze+05 / 25
pO 4291+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT 1 nuiL Sove+u4 [ 25
- po 4269+ 0.0
p1 -35.83 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

= nur 1 yse+u4 /25
== po 4269+ 0.0
pl -36.31+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 6,9

T nug.z3/e+u5 /25
po 4300+ 0.0
p1 -34.77+ 0.00

[ C =28.76 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 6 13

T nui zobe+u5 / 25
- pO 4284+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

TP delay [ns]

TVC(cbch) (66,6

1000

- rnuLy1ze+u4 / 25
e pO 4255+ 0.0
[ p1 -35.48+ 0.00

A~ 1 nui dose+u4 | 25
F-. po 4263+ 0.0
[ p1 -35.46 £ 0.00

3000

TP delay [ns]

TVC(eb,ch)=(6, 6, 10

T zzze+05 | 25
- po 4311+ 0.0
- pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,6,14

~ i zgoe+Us / 25
- pD 4280+ 0.0
L pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3

A1 nuiL5/ re+ud [ 25
- po 4276+ 0.0
pL -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,7

“nua (z8e+u4 25
4268+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 6

ARV mze+u5/25
- pO 4304+ 0.0
-35+ 0.0

[ C =28.57 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 6 15

T nuia44e+U5/ 25
e po 4295+ 0.0
p1 -36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

Sr1e+u4 /25
4247+ 0.0
-35.45+ 0.00

A1

b, po
pL

TP delay [ns]

TVC(cbch) (67,4

50 10'0
TP delay [ns]

TVC(cbch) (6 7,8

- s i rse+ud [ 25
- po 4268+ 0.0
p1 -35.94 + 0.00

)
- 1L ysbe+ud / 25
= pO 4258@
pl -34.72+ 0.00
[ C =28.80 [ps/ch]™_ 1]

TP delay [ns]

TVC(cbch) (6,7,12

1 nuiz.4use+U5 / 25
= po 4310+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

po

A1 L Base+Ud | 25
4272+ 0.0
-36.67 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (6 7,5

“rnuz0/1e+u4 / 25
4270+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (6 7,9

~ 1 nu, 138e+U5 / 25
= po 4280+ 0.0
p1 -36.29+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

T nuiz.usze+us [ 25
4306+ 0.0
-37.1+ 0.0

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,7,2)

po

pl

A~ 1 nuiL 4uye+ud 25
4278+ 0.0
-36.23+ 0.00

TP delay [ns]

TVC(cbch) (67,6

T 3p/e+04 [ 25

4277+ 0.0
-35.01+ 0.00

- C = 28.56 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 7, 10

1000

0

©nuiLbo1e+U6 / 25
- po 4298+ 0.0
L pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (67,14

~ 1z 510e+U5 / 25
pD 4308+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3)

po
pL

AT 1 nuiLBoYe+U4 / 25
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TVC sigma (RMS) (c,b,ch)=(0,1,0)
T T
2k ]

TVC sigma (RMS) (c,b,ch)=(0,1,4)

TVC sigma (RMS) (c,b,ch)=(0,1,8)

TVC sigma (RMS) (c,b,ch)=(0,1,12)

15

15

r

TVC sigma (RMS) (c,b,ch)=(0,1,1)

TVC sigma (RMS) (c,b,ch)=(0,1,5)

2 J\,\ﬁf)ﬂ _
. ]
100

TVC sigma (RMS) (c,b,ch) (0 1,9)

2
i

TVC sigma (RMS) (c,b,ch)=(0,1,13)

TVC sigma (RMS) (c,b,ch)=(0,1,2)

TVC sigma (RMS) (c,b,ch)=(0,1,6)

TVC sigma (RMS) (c,b,ch)=(0,1,10)

15

o

TVC sigma (RMS) (c,b,ch)=(0,1,14)

15

=
T

TVC sigma (RMS) (c,b,ch)=(0,1,3)

TVC sigma (RMS) (c,b,ch)=(0,1,7)

15

TVC sigma (RMS) (c,b,ch)=(0,1,11)

50 100

TVC sigma (RMS) (c,b,ch)=(0,1,15)

15F




TVC sigma (RMS) (c,b,ch)=(0,2,0)

T

TVC sigma (RMS) (c,b,ch)=(0,2,4)

H
T
1

o

TVC sigma (RMS) (c,b,ch)=(0,2,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(0,2,12)

TVC sigma (RMS) (c,b,ch)=(0,2,1)

15

TVC sigma (RMS) (c,b,ch)=(0,2,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,9)
T

25F T

15

TVC sigma (RMS) (c,b,ch)=(0,2,13)

15

TVC sigma (RMS) (c,b,ch)=(0,2,2)

TVC sigma (RMS) (c,b,ch)=(0,2,6)

=
2
—rTT T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,2,14)

TVC sigma (RMS) (c,b,ch)=(0,2,3)

o

TVC sigma (RMS) (c,b,ch)=(0,2,7)

15F

TVC sigma (RMS) (c,b,ch)=(0,2,11)

TVC sigma (RMS) (c,b,ch)=(0,2,15)

2k H
fW
1 o L




TVC sigma (RMS) (c,b,ch)=(0,3,0)

TVC sigma (RMS) (c,b,ch)=(0,3,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,8)
T T

TVC sigma (RMS) (c,b,ch)=(0,3,12)

TVC sigma (RMS) (c,b,ch)=(0,3,1)

Il

TVC sigma (RMS) (c,b,ch)=(0,3,5)

TVC sigma (RMS) (c,b,ch)=(0,3,9)

TVC sigma (RMS) (c,b,ch)=(0,3,13)

N 1
MM
) 1

TVC sigma (RMS) (c,b,ch)=(0,3,2)

15

f =l B N

TVC sigma (RMS) (c,b,ch)=(0,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,3,14)

15

TVC sigma (RMS) (c,b,ch)=(0,3,3)

LT

TVC sigma (RMS) (c,b,ch)=(0,3,7)

TVC sigma (RMS) (c,b,ch)=(0,3,11)

15F H

TVC sigma (RMS) (c,b,ch)=(0,3,15)

15[




TVC sigma (RMS) (c,b,ch)=(0,4,0)

TVC sigma (RMS) (c,b,ch)=(0,4,8)

TVC sigma (RMS) (c,b,ch)=(0,4,12)

TVC sigma (RMS) (c,b,ch)=(0,4,1)

T T
2F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,5)

TVC sigma (RMS) (c,b,ch)=(0,4,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,13)

151 H

TVC sigma (RMS) (c,b,ch)=(0,4,2)

TVC sigma (RMS) (c,b,ch)=(0,4,6)

15

LT T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,4,14)

15

=
T

TVC sigma (RMS) (c,b,ch)=(0,4,3)

2F T T

E

TVC sigma (RMS) (c,b,ch)=(0,4,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,15)




TVC sigma (RMS) (c,b,ch)=(0,5,0)

TVC sigma (RMS) (c,b,ch)=(0,5,4)

2F T T 3

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,8)
2

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,5,12)

2F T T 3

TVC sigma (RMS) (c,b,ch)=(0,5,1)

AN T T ]

TVC sigma (RMS) (c,b,ch)=(0,5,5)

>F T T ]

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,9)
T T
L 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,13)

TVC sigma (RMS) (c,b,ch)=(0,5,2)

TVC sigma (RMS) (c,b,ch)=(0,5,6)

2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,10)

~
T

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,5,14)

15

.
L e e e e
PR v S m——

TVC sigma (RMS) (c,b,ch)=(0,5,3)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,11)

oF T T ]

15F M

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,15)




TVC sigma (RMS) (c,b,ch)=(0,6,0)

TVC sigma (RMS) (c,b,ch)=(0,6,4)

TVC sigma (RMS) (c,b,ch)=(0,6,8)

=

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,6,12)

TVC sigma (RMS) (c,b,ch)=(0,6,1)

15 B

TVC sigma (RMS) (c,b,ch)=(0,6,5)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(0,6,9)

T T
25 -

15 M

TVC sigma (RMS) (c,b,ch)=(0,6,13)

15 M

TVC sigma (RMS) (c,b,ch)=(0,6,2)

TVC sigma (RMS) (c,b,ch)=(0,6,6)

15

N T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,10)

N
—T T

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,6,14)

TVC sigma (RMS) (c,b,ch)=(0,6,3)

TVC sigma (RMS) (c,b,ch)=(0,6,7)

15

R

TVC sigma (RMS) (c,b,ch)=(0,6,11)

15F

TVC sigma (RMS) (c,b,ch)=(0,6,15)

15F




TVC sigma (RMS) (c,b,ch)=(0,7,0)

TVC sigma (RMS) (c,b,ch)=(0,7,4)

T T
2k .

=l

TVC sigma (RMS) (c,b,ch)=(0,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,7,12)

TVC sigma (RMS) (c,b,ch)=(0,7,1)

15 -1

0

TVC sigma (RMS) (c,b,ch)=(0,7,5)

T T
2k -

151 E

h

TVC sigma (RMS) (c,b,ch)=(0,7,9)

TVC sigma (RMS) (c,b,ch)=(0,7,13)

1]

TVC sigma (RMS) (c,b,ch)=(0,7,2)

TVC sigma (RMS) (c,b,ch)=(0,7,6)

T T
2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,7,14)

15

TVC sigma (RMS) (c,b,ch)=(0,7,3)

2k

15

L

TVC sigma (RMS) (c,b,ch)=(0,7,7)

2k

TVC sigma (RMS) (c,b,ch)=(0,7,11)

TVC sigma (RMS) (c,b,ch)=(0,7,15)




TVC sigma (RMS) (c,b,ch)=(0,8,0)

=TI

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,4)

T T
2k .

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,8,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,8,12)

TVC sigma (RMS) (c,b,ch)=(0,8,1)

15F E

TVC sigma (RMS) (c,b,ch)=(0,8,5)

T T
2k -

15 -1

0

TVC sigma (RMS) (c,b,ch)=(0,8,9)

15 M

TVC sigma (RMS) (c,b,ch)=(0,8,13)

TVC sigma (RMS) (c,b,ch)=(0,8,2)

2

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,8,14)

TVC sigma (RMS) (c,b,ch)=(0,8,3)

15[

=

TVC sigma (RMS) (c,b,ch)=(0,8,7)

15

TVC sigma (RMS) (c,b,ch)=(0,8,11)

15

TVC sigma (RMS) (c,b,ch)=(0,8,15)




TVC sigma (RMS) (c,b,ch)=(0,9,0)

T T
2 .

TVC sigma (RMS) (c,b,ch)=(0,9,4)

TVC sigma (RMS) (c,b,ch)=(0,9,8)

0

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,9,12)

TVC sigma (RMS) (c,b,ch)=(0,9,1)

T T
2k -

15 -1

O

TVC sigma (RMS) (c,b,ch)=(0,9,5)

T T
2k -

=

TVC sigma (RMS) (c,b,ch)=(0,9,9)

15 M

TVC sigma (RMS) (c,b,ch)=(0,9,13)

TVC sigma (RMS) (c,b,ch)=(0,9,2)

TVC sigma (RMS) (c,b,ch)=(0,9,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,9,14)

TVC sigma (RMS) (c,b,ch)=(0,9,3)

F ]
15Jﬂ\(l/_/
C 1

TVC sigma (RMS) (c,b,ch)=(0,9,7)

|

15

TVC sigma (RMS) (c,b,ch)=(0,9,11)

1

TVC sigma (RMS) (c,b,ch)=(0,9,15)

15




TVC sigma (RMS) (c,b,ch)=(0,10,0)

F T T ]

0

TVC sigma (RMS) (c,b,ch)=(0,10,4)

TVC sigma (RMS) (c,b,ch)=(0,10,8)

Il| 1 1

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(0,10,12)

TVC sigma (RMS) (c,b,ch)=(0,10,1)

TVC sigma (RMS) (c,b,ch)=(0,10,5)

15

TVC sigma (RMS) (c,b,ch)=(0,10,9)

15

TVC sigma (RMS) (c,b,ch)=(0,10,13)

TVC sigma (RMS) (c,b,ch)=(0,10,2)

°F T T

TVC sigma (RMS) (c,b,ch)=(0,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,10,14)

TVC sigma (RMS) (c,b,ch)=(0,10,3)

TVC sigma (RMS) (c,b,ch)=(0,10,7)

TVC sigma (RMS) (c,b,ch)=(0,10,11)

T T
2k

TVC sigma (RMS) (c,b,ch)=(0,10,15)

15




TVC sigma (RMS) (c,b,ch)=(0,11,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(0,11,4)

TVC sigma (RMS) (c,b,ch)=(0,11,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(0,11,12)

TVC sigma (RMS) (c,b,ch)=(0,11,1)

151 E

I

TVC sigma (RMS) (c,b,ch)=(0,11,5)

2F T ]

TVC sigma (RMS) (c,b,ch)=(0,11,9)

TVC sigma (RMS) (c,b,ch)=(0,11,13)

1
0 50 100

15F H

TVC sigma (RMS) (c,b,ch)=(0,11,2)

TVC sigma (RMS) (c,b,ch)=(0,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,11,10)

TVC sigma (RMS) (c,b,ch)=(0,11,14)

TVC sigma (RMS) (c,b,ch)=(0,11,3)
T T

ok

15

TVC sigma (RMS) (c,b,ch)=(0,11,7)
T T

TVC sigma (RMS) (c,b,ch)=(0,11,11)

TVC sigma (RMS) (c,b,ch)=(0,11,15)




TVC sigma (RMS) (c,b,ch)=(0,12,0)

T T
2

-
T

TVC sigma (RMS) (c,b,ch)=(0,12,4)

]
1 1
50 100
TVC sigma (RMS) (c,b,ch)=(0,12,8)
T T
2F -
15[ -
i -
1 1 J—
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,12,12)

TVC sigma (RMS) (c,b,ch)=(0,12,1)

TVC sigma (RMS) (c,b,ch)=(0,12,5)

15

|

TVC sigma (RMS) (c,b,ch)=(0,12,9)

TVC sigma (RMS) (c,b,ch)=(0,12,13)

TVC sigma (RMS) (c,b,ch)=(0,12,2)

TVC sigma (RMS) (c,b,ch)=(0,12,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,12,14)

TVC sigma (RMS) (c,b,ch)=(0,12,3)
T T

15

g

TVC sigma (RMS) (c,b,ch)=(0,12,7)
T T

TVC sigma (RMS) (c,b,ch)=(0,12,11)

TVC sigma (RMS) (c,b,ch)=(0,12,15)




TVC sigma (RMS) (c,b,ch)=(0,13,0)

TVC sigma (RMS) (c,b,ch)=(0,13,4)

o
1 1
50 100
TVC sigma (RMS) (c,b,ch)=(0,13,8)
T T
N 4
15[ B
L]
R EY 00

TVC sigma (RMS) (c,b,ch)=(0,13,12)

TVC sigma (RMS) (c,b,ch)=(0,13,1)

15

TVC sigma (RMS) (c,b,ch)=(0,13,5)

15

TVC sigma (RMS) (c,b,ch)=(0,13,9)

TVC sigma (RMS) (c,b,ch)=(0,13,13)

TVC sigma (RMS) (c,b,ch)=(0,13,2)

TVC sigma (RMS) (c,b,ch)=(0,13,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,13,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,13,14)

TVC sigma (RMS) (c,b,ch)=(0,13,3)
T T

TVC sigma (RMS) (c,b,ch)=(0,13,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,13,11)

15 5

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,13,15)




TVC sigma (RMS) (c,b,ch)=(0,14,0)

-

TVC sigma (RMS) (c,b,ch)=(0,14,4)

TVC sigma (RMS) (c,b,ch)=(0,14,8)

ol

o

TVC sigma (RMS) (c,b,ch)=(0,14,12)

TVC sigma (RMS) (c,b,ch)=(0,14,1)

T T
2k

15

J

TVC sigma (RMS) (c,b,ch)=(0,14,5)

O

TVC sigma (RMS) (c,b,ch)=(0,14,9)

15

TVC sigma (RMS) (c,b,ch)=(0,14,13)

TVC sigma (RMS) (c,b,ch)=(0,14,2)

TVC sigma (RMS) (c,b,ch)=(0,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,14,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,14,14)

TVC sigma (RMS) (c,b,ch)=(0,14,3)

oF T T

15

LT

TVC sigma (RMS) (c,b,ch)=(0,14,7)

=

TVC sigma (RMS) (c,b,ch)=(0,14,11)

TVC sigma (RMS) (c,b,ch)=(0,14,15)

15




TVC sigma (RMS) (c,b,ch)=(0,15,0)

TVC sigma (RMS) (c,b,ch)=(0,15,4)

TVC sigma (RMS) (c,b,ch)=(0,15,8)

TVC sigma (RMS) (c,b,ch)=(0,15,12)

TVC sigma (RMS) (c,b,ch)=(0,15,1)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(0,15,5)

T T
2k

TVC sigma (RMS) (c,b,ch)=(0,15,9)

15

TVC sigma (RMS) (c,b,ch)=(0,15,13)

15

TVC sigma (RMS) (c,b,ch)=(0,15,2)

TVC sigma (RMS) (c,b,ch)=(0,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(0,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,15,14)

TVC sigma (RMS) (c,b,ch)=(0,15,3)
T T

15F

TVC sigma (RMS) (c,b,ch)=(0,15,7)
T T

15F

TVC sigma (RMS) (c,b,ch)=(0,15,11)

TVC sigma (RMS) (c,b,ch)=(0,15,15)

15[




TVC sigma (RMS) (c,b,ch)=(1,0,0)

TVC sigma (RMS) (c,b,ch)=(1,0,4)

TVC sigma (RMS) (c,b,ch)=(1,0,8)

2k .
15 -1
1 mt

TVC sigma (RMS) (c,b,ch)=(1,0,12)

TVC sigma (RMS) (c,b,ch)=(1,0,1)

TVC sigma (RMS) (c,b,ch)=(1,0,5)

TVC sigma (RMS) (c,b,ch)=(1,0,9)

TVC sigma (RMS) (c,b,ch)=(1,0,13)

rll}

TVC sigma (RMS) (c,b,ch)=(1,0,2)

15

L T

TVC sigma (RMS) (c,b,ch)=(1,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,0,14)

TVC sigma (RMS) (c,b,ch)=(1,0,3)

TVC sigma (RMS) (c,b,ch)=(1,0,7)

15 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,0,15)




TVC sigma (RMS) (c,b,ch)=(1,1,0)

TVC sigma (RMS) (c,b,ch)=(1,1,4)

TVC sigma (RMS) (c,b,ch)=(1,1,8)

-
T

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,1,12)

TVC sigma (RMS) (c,b,ch)=(1,1,1)

TVC sigma (RMS) (c,b,ch)=(1,1,5)

TVC sigma (RMS) (c,b,ch)=(1,1,9)

TVC sigma (RMS) (c,b,ch)=(1,1,13)

15 M

TVC sigma (RMS) (c,b,ch)=(1,1,2)

TVC sigma (RMS) (c,b,ch)=(1,1,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,1,14)

15

TVC sigma (RMS) (c,b,ch)=(1,1,3)

15k E

0

TVC sigma (RMS) (c,b,ch)=(1,1,7)
T T
s ]

15F -

{

TVC sigma (RMS) (c,b,ch)=(1,1,11)

TVC sigma (RMS) (c,b,ch)=(1,1,15)

15 5




TVC sigma (RMS) (c,b,ch)=(1,2,0)

TVC sigma (RMS) (c,b,ch)=(1,2,4)

-
T

TVC sigma (RMS) (c,b,ch)=(1,2,8)

TVC sigma (RMS) (c,b,ch)=(1,2,12)

TVC sigma (RMS) (c,b,ch)=(1,2,1)

15 1

TVC sigma (RMS) (c,b,ch)=(1,2,5)

O

TVC sigma (RMS) (c,b,ch)=(1,2,9)

TVC sigma (RMS) (c,b,ch)=(1,2,13)

TVC sigma (RMS) (c,b,ch)=(1,2,2)

TVC sigma (RMS) (c,b,ch)=(1,2,6)

15

O

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,2,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,2,14)

15

TVC sigma (RMS) (c,b,ch)=(1,2,3)

TVC sigma (RMS) (c,b,ch)=(1,2,7)

TVC sigma (RMS) (c,b,ch)=(1,2,11)

TVC sigma (RMS) (c,b,ch)=(1,2,15)

15




TVC sigma (RMS) (c,b,ch)=(1,3,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(1,3,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(1,3,8)

T T
2k .

—

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,3,12)

TVC sigma (RMS) (c,b,ch)=(1,3,1)

TVC sigma (RMS) (c,b,ch)=(1,3,5)

TVC sigma (RMS) (c,b,ch)=(1,3,9)

TVC sigma (RMS) (c,b,ch)=(1,3,13)

15

TVC sigma (RMS) (c,b,ch)=(1,3,2)

TVC sigma (RMS) (c,b,ch)=(1,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,3,10)

15

1
100

0 50

TVC sigma (RMS) (c,b,ch)=(1,3,14)

TVC sigma (RMS) (c,b,ch)=(1,3,3)

T T
ok .

5

TVC sigma (RMS) (c,b,ch)=(1,3,7)

15F -

1

TVC sigma (RMS) (c,b,ch)=(1,3,11)

1

TVC sigma (RMS) (c,b,ch)=(1,3,15)




TVC sigma (RMS) (c,b,ch)=(1,4,0)

TVC sigma (RMS) (c,b,ch)=(1,4,4)

T
2

-
T

TVC sigma (RMS) (c,b,ch)=(1,4,8)

100

TVC sigma (RMS) (c,b,ch)=(1,4,12)

TVC sigma (RMS) (c,b,ch)=(1,4,1)

TVC sigma (RMS) (c,b,ch)=(1,4,5)

T
2

15

100

TVC sigma (RMS) (c,b,ch)=(1,4,9)

TVC sigma (RMS) (c,b,ch)=(1,4,13)

15

TVC sigma (RMS) (c,b,ch)=(1,4,2)

TVC sigma (RMS) (c,b,ch)=(1,4,6)

15

b

TVC sigma (RMS) (c,b,ch)=(1,4,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(1,4,14)

1
100

15

TVC sigma (RMS) (c,b,ch)=(1,4,3)

15F

Gy

1
100

TVC sigma (RMS) (c,b,ch)=(1,4,7)

o

TVC sigma (RMS) (c,b,ch)=(1,4,11)

100

15

TVC sigma (RMS) (c,b,ch)=(1,4,15)

100

15F




TVC sigma (RMS) (c,b,ch)=(1,5,0)

TVC sigma (RMS) (c,b,ch)=(1,5,4)

T T
2k .

50 100

TVC sigma (RMS) (c,b,ch)=(1,5,8)

1
100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(1,5,12)

2F T T =

TVC sigma (RMS) (c,b,ch)=(1,5,1)

2F T T ]

TVC sigma (RMS) (c,b,ch)=(1,5,5)

15 -1

TVC sigma (RMS) (c,b,ch)=(1,5,9)

TVC sigma (RMS) (c,b,ch)=(1,5,13)

2F T T 3

TVC sigma (RMS) (c,b,ch)=(1,5,2)

TVC sigma (RMS) (c,b,ch)=(1,5,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,5,14)

TVC sigma (RMS) (c,b,ch)=(1,5,3)

,F T T ]

15F -1

TVC sigma (RMS) (c,b,ch)=(1,5,7)

TVC sigma (RMS) (c,b,ch)=(1,5,11)
T T
2k 4

15F -

TVC sigma (RMS) (c,b,ch)=(1,5,15)




TVC sigma (RMS) (c,b,ch)=(1,6,0)

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,8)
T T

2k .

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,6,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,1)

TVC sigma (RMS) (c,b,ch)=(1,6,5)

15 =1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,13)

15 M

TVC sigma (RMS) (c,b,ch)=(1,6,2)

TVC sigma (RMS) (c,b,ch)=(1,6,6)

15

I

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,6,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,6,14)

TVC sigma (RMS) (c,b,ch)=(1,6,3)
T T
2k ]

15 E

TVC sigma (RMS) (c,b,ch)=(1,6,7)

TVC sigma (RMS) (c,b,ch)=(1,6,11)

15 5

TVC sigma (RMS) (c,b,ch)=(1,6,15)




TVC sigma (RMS) (c,b,ch)=(1,7,0)

TVC sigma (RMS) (c,b,ch)=(1,7,4)

TVC sigma (RMS) (c,b,ch)=(1,7,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(1,7,12)

TVC sigma (RMS) (c,b,ch)=(1,7,1)

15F E

TVC sigma (RMS) (c,b,ch)=(1,7,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,9)

25 T T ]

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,13)

T T
3 H

TVC sigma (RMS) (c,b,ch)=(1,7,2)

TVC sigma (RMS) (c,b,ch)=(1,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,10)

-
5
T T T T T T T T T T T

o
ol
oS

1
100

TVC sigma (RMS) (c,b,ch)=(1,7,14)

TVC sigma (RMS) (c,b,ch)=(1,7,3)

15 1

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,7)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,11)

15 5

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,7,15)




TVC sigma (RMS) (c,b,ch)=(1,8,0)

-
T

T

TVC sigma (RMS) (c,b,ch)=(1,8,4)

TVC sigma (RMS) (c,b,ch)=(1,8,8)

T
'l

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,8,12)

TVC sigma (RMS) (c,b,ch)=(1,8,1)

TVC sigma (RMS) (c,b,ch)=(1,8,5)

TVC sigma (RMS) (c,b,ch)=(1,8,9)

TVC sigma (RMS) (c,b,ch)=(1,8,13)

TVC sigma (RMS) (c,b,ch)=(1,8,2)

TVC sigma (RMS) (c,b,ch)=(1,8,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,8,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(1,8,14)

TVC sigma (RMS) (c,b,ch)=(1,8,3)

TVC sigma (RMS) (c,b,ch)=(1,8,7)

15 -

5

TVC sigma (RMS) (c,b,ch)=(1,8,11)

TVC sigma (RMS) (c,b,ch)=(1,8,15)

15 H




TVC sigma (RMS) (c,b,ch)=(1,9,0)

T T
2 .

TVC sigma (RMS) (c,b,ch)=(1,9,4)

TVC sigma (RMS) (c,b,ch)=(1,9,8)
2

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(1,9,12)

TVC sigma (RMS) (c,b,ch)=(1,9,1)

2

TVC sigma (RMS) (c,b,ch)=(1,9,5)

T T
2k -

15 -1

I

TVC sigma (RMS) (c,b,ch)=(1,9,9)

TVC sigma (RMS) (c,b,ch)=(1,9,13)

15 M

TVC sigma (RMS) (c,b,ch)=(1,9,2)

2

15

TVC sigma (RMS) (c,b,ch)=(1,9,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,9,14)

15

TVC sigma (RMS) (c,b,ch)=(1,9,3)

TVC sigma (RMS) (c,b,ch)=(1,9,7)

.k i
15J\/ﬂ$r
1

TVC sigma (RMS) (c,b,ch)=(1,9,11)

TVC sigma (RMS) (c,b,ch)=(1,9,15)




TVC sigma (RMS) (c,b,ch)=(1,10,0)

l
|L| 1 1

TVC sigma (RMS) (c,b,ch)=(1,10,4)

b

1 1
50 100
TVC sigma (RMS) (c,b,ch)=(1,10,8)
T T
2 4
15[ -
i -
1 1 -]
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,10,12)

TVC sigma (RMS) (c,b,ch)=(1,10,1)

TVC sigma (RMS) (c,b,ch)=(1,10,5)

1
100

15

TVC sigma (RMS) (c,b,ch)=(1,10,9)

1
100

25

TVC sigma (RMS) (c,b,ch)=(1,10,13)

1
100

25

15

TVC sigma (RMS) (c,b,ch)=(1,10,2)

15

N

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,10)

15

o

1
100

TVC sigma (RMS) (c,b,ch)=(1,10,14)

25

15

TVC sigma (RMS) (c,b,ch)=(1,10,3)

TVC sigma (RMS) (c,b,ch)=(1,10,7)

1
100

i

TVC sigma (RMS) (c,b,ch)=(1,10,11)

1
100

15F

05F

TVC sigma (RMS) (c,b,ch)=(1,10,15)

1
100

T
2k
15
1
P |
50




TVC sigma (RMS) (c,b,ch)=(1,11,0)

TVC sigma (RMS) (c,b,ch)=(1,11,4)

TVC sigma (RMS) (c,b,ch)=(1,11,8)

L

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(1,11,12)

TVC sigma (RMS) (c,b,ch)=(1,11,1)

15

TVC sigma (RMS) (c,b,ch)=(1,11,5)

15

TVC sigma (RMS) (c,b,ch)=(1,11,9)

2F
15
1
05
1 1

TVC sigma (RMS) (c,b,ch)=(1,11,13)

TVC sigma (RMS) (c,b,ch)=(1,11,2)

TVC sigma (RMS) (c,b,ch)=(1,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,11,14)

15

TVC sigma (RMS) (c,b,ch)=(1,11,3)

TVC sigma (RMS) (c,b,ch)=(1,11,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,11,15)




TVC sigma (RMS) (c,b,ch)=(1,12,0)

T T
2

TVC sigma (RMS) (c,b,ch)=(1,12,4)

TVC sigma (RMS) (c,b,ch)=(1,12,8)

TVC sigma (RMS) (c,b,ch)=(1,12,12)

TVC sigma (RMS) (c,b,ch)=(1,12,1)

TVC sigma (RMS) (c,b,ch)=(1,12,5)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(1,12,9)

TVC sigma (RMS) (c,b,ch)=(1,12,13)

TVC sigma (RMS) (c,b,ch)=(1,12,2)
F T T 3

TVC sigma (RMS) (c,b,ch)=(1,12,6)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(1,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(1,12,14)

TVC sigma (RMS) (c,b,ch)=(1,12,3)

TVC sigma (RMS) (c,b,ch)=(1,12,7)
T T

TVC sigma (RMS) (c,b,ch)=(1,12,11)

15 1

TVC sigma (RMS) (c,b,ch)=(1,12,15)




TVC sigma (RMS) (c,b,ch)=(1,13,0)

-
T

TVC sigma (RMS) (c,b,ch)=(1,13,4)

1
100

s
T

TVC sigma (RMS) (c,b,ch)=(1,13,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(1,13,12)

100

TVC sigma (RMS) (c,b,ch)=(1,13,1)

15

TVC sigma (RMS) (c,b,ch)=(1,13,5)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,9)

TVC sigma (RMS) (c,b,ch)=(1,13,13)

TVC sigma (RMS) (c,b,ch)=(1,13,2)

TVC sigma (RMS) (c,b,ch)=(1,13,6)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,10)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,14)

15

TVC sigma (RMS) (c,b,ch)=(1,13,3)

TVC sigma (RMS) (c,b,ch)=(1,13,7)

50

100

TVC sigma (RMS) (c,b,ch)=(1,13,11)

1
100

TVC sigma (RMS) (c,b,ch)=(1,13,15)




TVC sigma (RMS) (c,b,ch)=(1,14,0)

-
T

TVC sigma (RMS) (c,b,ch)=(1,14,4)

1
100

-
T

o

TVC sigma (RMS) (c,b,ch)=(1,14,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(1,14,12)

100

TVC sigma (RMS) (c,b,ch)=(1,14,1)

TVC sigma (RMS) (c,b,ch)=(1,14,5)

1
100

TVC sigma (RMS) (c,b,ch)=(1,14,9)

TVC sigma (RMS) (c,b,ch)=(1,14,13)

15

TVC sigma (RMS) (c,b,ch)=(1,14,2)

TVC sigma (RMS) (c,b,ch)=(1,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(1,14,10)

TVC sigma (RMS) (c,b,ch)=(1,14,3)

15F

TVC sigma (RMS) (c,b,ch)=(1,14,7)

1
100

"]

TVC sigma (RMS) (c,b,ch)=(1,14,11)

100

15

TVC sigma (RMS) (c,b,ch)=(1,14,15)

100




TVC sigma (RMS) (c,b,ch)=(1,15,0)

-
T

TVC sigma (RMS) (c,b,ch)=(1,15,4)

1
100

T
2k

-
T

TVC sigma (RMS) (c,b,ch)=(1,15,8)

100

TVC sigma (RMS) (c,b,ch)=(1,15,12)

TVC sigma (RMS) (c,b,ch)=(1,15,1)

15

TVC sigma (RMS) (c,b,ch)=(1,15,5)

1
100

15

b

TVC sigma (RMS) (c,b,ch)=(1,15,9)

100

TVC sigma (RMS) (c,b,ch)=(1,15,13)

100

15

TVC sigma (RMS) (c,b,ch)=(1,15,2)

TVC sigma (RMS) (c,b,ch)=(1,15,6)

TVC sigma (RMS) (c,b,ch)=(1,15,10)

TVC sigma (RMS) (c,b,ch)=(1,15,14)

1
100

TVC sigma (RMS) (c,b,ch)=(1,15,3)

TVC sigma (RMS) (c,b,ch)=(1,15,7)

2F T

TVC sigma (RMS) (c¢,b,ch)=(1,15,11)

15[

100

TVC sigma (RMS) (c,b,ch)=(1,15,15)

15




TVC sigma (RMS) (c,b,ch)=(2,0,0)

i
I

TVC sigma (RMS) (c,b,ch)=(2,0,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(2,0,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,0,12)

TVC sigma (RMS) (c,b,ch)=(2,0,1)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,5)

25

TVC sigma (RMS) (c,b,ch)=(2,0,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,13)

T T
2k

TVC sigma (RMS) (c,b,ch)=(2,0,2)

15

TVC sigma (RMS) (c,b,ch)=(2,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,0,14)

TVC sigma (RMS) (c,b,ch)=(2,0,3)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,7)

TVC sigma (RMS) (c,b,ch)=(2,0,11)
T T
2 4

15F -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,0,15)
T T
2k 4

15[ .




TVC sigma (RMS) (c,b,ch)=(2,1,0)

2 m
15 N
1
05 -
| 1

TVC sigma (RMS) (c,b,ch)=(2,1,4)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(2,1,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,1,12)

TVC sigma RMS) (c,b,ch) (2 1,1)

15

0.5

TVC sigma (RMS) (c,b,ch) (2 1,5)

2F

15

100

TVC sigma (RMS) (c,b,ch)=(2,1,9)

25F T T

15

TVC sigma (RMS) (c,b,ch)=(2,1,13)

TVC sigma (RMS) (c,b,ch)=(2,1,2)

TVC sigma (RMS) (c,b,ch)=(2,1,6)

TVC sigma (RMS) (c,b,ch)=(2,1,10)

TVC sigma (RMS) (c,b,ch)=(2,1,14)

TVC sigma (RMS) (c,b,ch)=(2,1,3)

15 R

TVC sigma (RMS) (c,b,ch)=(2,1,7)

2

15

TVC sigma (RMS) (c,b,ch)=(2,1,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(2,1,15)

15[ .




TVC sigma (RMS) (c,b,ch)=(2,2,0)

AL _
15‘JM\'\F |
C |

TVC sigma (RMS) (c,b,ch)=(2,2,4)

TVC sigma (RMS) (c,b,ch)=(2,2,8)

,_‘
T

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(2,2,1)

15

o

TVC sigma (RMS) (c,b,ch)=(2,2,5)

2k
15‘\/MJ\/|¢/\k
1| L]

TVC sigma (RMS) (c,b,ch)=(2,2,9)

TVC sigma (RMS) (c,b,ch)=(2,2,13)

TVC sigma (RMS) (c,b,ch)=(2,2,2)

o
—r T T T T T T T T T

A N

TVC sigma (RMS) (c,b,ch)=(2,2,6)

o
— T T T T T T T T T T

=P

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,2,14)

TVC sigma (RMS) (c,b,ch)=(2,2,3)

15 R

TVC sigma (RMS) (c,b,ch)=(2,2,7)

TVC sigma (RMS) (c,b,ch)=(2,2,11)

TVC sigma (RMS) (c,b,ch)=(2,2,15)

15 H




TVC sigma (RMS) (c,b,ch)=(2,3,0)

TVC sigma (RMS) (c,b,ch)=(2,3,4)

TVC sigma (RMS) (c,b,ch)=(2,3,8)

ok
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(2,3,12)

TVC sigma (RMS) (c,b,ch)=(2,3,1)

15F E

=

TVC sigma (RMS) (c,b,ch)=(2,3,5)

15 =1

TVC sigma (RMS) (c,b,ch)=(2,3,9)

TVC sigma (RMS) (c,b,ch)=(2,3,13)

TVC sigma (RMS) (c,b,ch)=(2,3,2)

| AT

TVC sigma (RMS) (c,b,ch)=(2,3,6)

~
—rTT

S

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,3,14)

TVC sigma (RMS) (c,b,ch)=(2,3,3)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,7)

25

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,3,15)

15 H




TVC sigma (RMS) (c,b,ch)=(2,4,0)

TVC sigma (RMS) (c,b,ch)=(2,4,4)

T T
2 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,4,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,4,12)

TVC sigma (RMS) (c,b,ch)=(2,4,1)

T T
2F -

o

TVC sigma (RMS) (c,b,ch)=(2,4,5)

15 -1

=T

TVC sigma (RMS) (c,b,ch)=(2,4,9)

TVC sigma (RMS) (c,b,ch)=(2,4,13)

15 B

TVC sigma (RMS) (c,b,ch)=(2,4,2)

TVC sigma (RMS) (c,b,ch)=(2,4,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,4,14)

TVC sigma (RMS) (c,b,ch)=(2,4,3)

TVC sigma (RMS) (c,b,ch)=(2,4,7)

2k .
15 1
1 Lr

TVC sigma (RMS) (c,b,ch)=(2,4,11)

TVC sigma (RMS) (c,b,ch)=(2,4,15)

15f H




TVC sigma (RMS) (c,b,ch)=(2,5,0)

T T
ok

feralll]

TVC sigma (RMS) (c,b,ch)=(2,5,4)

T T
2 .

|

TVC sigma (RMS) (c,b,ch)=(2,5,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,5,12)

35 T T

3k
25

TVC sigma (RMS) (c,b,ch)=(2,5,1)

2

TVC sigma (RMS) (c,b,ch)=(2,5,5)

2k -
15 -1
1 ]

TVC sigma (RMS) (c,b,ch)=(2,5,9)

TVC sigma (RMS) (c,b,ch)=(2,5,13)

TVC sigma (RMS) (c,b,ch)=(2,5,2)

TVC sigma (RMS) (c,b,ch)=(2,5,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,5,14)

TVC sigma (RMS) (c,b,ch)=(2,5,3)

2k
15F
1
|

TVC sigma (RMS) (c,b,ch)=(2,5,7)

o

TVC sigma (RMS) (c,b,ch)=(2,5,11)

TVC sigma (RMS) (c,b,ch)=(2,5,15)




TVC sigma (RMS) (c,b,ch)=(2,6,0)

TVC sigma (RMS) (c,b,ch)=(2,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,8)
T T

TVC sigma (RMS) (c,b,ch)=(2,6,12)

TVC sigma (RMS) (c,b,ch)=(2,6,1)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(2,6,5)

T T
2k -

15 -

TVC sigma (RMS) (c,b,ch)=(2,6,9)

TVC sigma (RMS) (c,b,ch)=(2,6,13)

TVC sigma (RMS) (c,b,ch)=(2,6,2)

.

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,6)

2
T T T T T T

N

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,6,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(2,6,14)

N

TVC sigma (RMS) (c,b,ch)=(2,6,3)

TVC sigma (RMS) (c,b,ch)=(2,6,7)

ok 4
15f E
1 L

TVC sigma (RMS) (c,b,ch)=(2,6,11)

15F -

TVC sigma (RMS) (c,b,ch)=(2,6,15)




TVC sigma (RMS) (c,b,ch)=(2,7,0)

TVC sigma (RMS) (c,b,ch)=(2,7,4)

,_‘
T
1

d

TVC sigma (RMS) (c,b,ch)=(2,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,7,12)

TVC sigma (RMS) (c,b,ch)=(2,7,1)

15 =1

TVC sigma (RMS) (c,b,ch)=(2,7,5)

15 -1

r

TVC sigma (RMS) (c,b,ch)=(2,7,9)

TVC sigma (RMS) (c,b,ch)=(2,7,13)

TVC sigma (RMS) (c,b,ch)=(2,7,2)

TVC sigma (RMS) (c,b,ch)=(2,7,6)

TVC sigma (RMS) (c,b,ch)=(2,7,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,7,14)

TVC sigma (RMS) (c,b,ch)=(2,7,3)

2k

TVC sigma (RMS) (c,b,ch)=(2,7,7)

2k
1]

TVC sigma (RMS) (c,b,ch)=(2,7,11)

TVC sigma (RMS) (c,b,ch)=(2,7,15)




TVC sigma (RMS) (c,b,ch)=(2,8,0)

T T
2 .

»—\
T
1

TVC sigma (RMS) (c,b,ch)=(2,8,4)

2

TVC sigma (RMS) (c,b,ch)=(2,8,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,8,12)

TVC sigma (RMS) (c,b,ch)=(2,8,1)

.F T T

TVC sigma (RMS) (c,b,ch)=(2,8,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,9)

TVC sigma (RMS) (c,b,ch)=(2,8,13)

TVC sigma (RMS) (c,b,ch)=(2,8,2)

TVC sigma (RMS) (c,b,ch)=(2,8,6)

2F T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,8,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,8,14)

TVC sigma (RMS) (c,b,ch)=(2,8,3)

2F T T =

TVC sigma (RMS) (c,b,ch)=(2,8,7)

2F T T

TVC sigma (RMS) (c,b,ch)=(2,8,11)

T T
2k .

15F -

TVC sigma (RMS) (c,b,ch)=(2,8,15)




TVC sigma (RMS) (c,b,ch)=(2,9,0)

o .
15 -
1 -

|

TVC sigma (RMS) (c,b,ch)=(2,9,4)

H
T
1

TVC sigma (RMS) (c,b,ch)=(2,9,8)

ok
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(2,9,12)

TVC sigma (RMS) (c,b,ch)=(2,9,1)

15 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,9,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,9,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,9,13)

151 H

TVC sigma (RMS) (c,b,ch)=(2,9,2)

TVC sigma (RMS) (c,b,ch)=(2,9,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,9,14)

15

TVC sigma (RMS) (c,b,ch)=(2,9,3)
T T
Sk ]

15 R

TVC sigma (RMS) (c,b,ch)=(2,9,7)

N

TVC sigma (RMS) (c,b,ch)=(2,9,11)

TVC sigma (RMS) (c,b,ch)=(2,9,15)




TVC sigma (RMS) (c,b,ch)=(2,10,0)

TVC sigma (RMS) (c,b,ch)=(2,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,8)

TVC sigma (RMS) (c,b,ch)=(2,10,12)

TVC sigma (RMS) (c,b,ch)=(2,10,1)

=1

TVC sigma (RMS) (c,b,ch)=(2,10,5)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,9)

TVC sigma (RMS) (c,b,ch)=(2,10,13)

100

151

TVC sigma (RMS) (c,b,ch)=(2,10,2)

TVC sigma (RMS) (c,b,ch)=(2,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,10)

1
100

TVC sigma (RMS) (c,b,ch)=(2,10,14)

TVC sigma (RMS) (c,b,ch)=(2,10,3)

TVC sigma (RMS) (c,b,ch)=(2,10,7)

TVC sigma (RMS) (c,b,ch)=(2,10,11)

100

TVC sigma (RMS) (c,b,ch)=(2,10,15)

100




TVC sigma (RMS) (c,b,ch)=(2,11,0)

TVC sigma (RMS) (c,b,ch)=(2,11,4)

TVC sigma (RMS) (c,b,ch)=(2,11,8)

TVC sigma (RMS) (c,b,ch)=(2,11,12)

TVC sigma (RMS) (c,b,ch)=(2,11,1)

TVC sigma (RMS) (c,b,ch)=(2,11,5)

15

'l

TVC sigma (RMS) (c,b,ch)=(2,11,9)

15

TVC sigma (RMS) (c,b,ch)=(2,11,13)

15

TVC sigma (RMS) (c,b,ch)=(2,11,2)

TVC sigma (RMS) (c,b,ch)=(2,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,11,14)

TVC sigma (RMS) (c,b,ch)=(2,11,3)
T T

15F

5

TVC sigma (RMS) (c,b,ch)=(2,11,7)
T T

15[

TVC sigma (RMS) (c,b,ch)=(2,11,11)

TVC sigma (RMS) (c,b,ch)=(2,11,15)




TVC sigma (RMS) (c,b,ch)=(2,12,0)

TVC sigma (RMS) (c,b,ch)=(2,12,4)

TVC sigma (RMS) (c,b,ch)=(2,12,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,12,12)

TVC sigma (RMS) (c,b,ch)=(2,12,1)

TVC sigma (RMS) (c,b,ch)=(2,12,5)

15

I

TVC sigma (RMS) (c,b,ch)=(2,12,9)

15

TVC sigma (RMS) (c,b,ch)=(2,12,13)

TVC sigma (RMS) (c,b,ch)=(2,12,2)

TVC sigma (RMS) (c,b,ch)=(2,12,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,12,14)

TVC sigma (RMS) (c,b,ch)=(2,12,3)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,12,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,12,11)

15F M

1 1
1( 50 100

TVC sigma (RMS) (c,b,ch)=(2,12,15)




TVC sigma (RMS) (c,b,ch)=(2,13,0)
T T

TVC sigma (RMS) (c,b,ch)=(2,13,4)

TVC sigma (RMS) (c,b,ch)=(2,13,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(2,13,12)

TVC sigma (RMS) (c,b,ch)=(2,13,1)

15

i

TVC sigma (RMS) (c,b,ch)=(2,13,5)

2F
15
1
0.5
1 1

TVC sigma (RMS) (c,b,ch)=(2,13,9)

TVC sigma (RMS) (c,b,ch)=(2,13,13)

TVC sigma (RMS) (c,b,ch)=(2,13,2)

TVC sigma (RMS) (c,b,ch)=(2,13,6)

15

0.5

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,13,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,13,14)

25

15

TVC sigma (RMS) (c,b,ch)=(2,13,3)

TVC sigma (RMS) (c,b,ch)=(2,13,7)

TVC sigma (RMS) (¢,b,ch)=(2,13,11)

TVC sigma (RMS) (c,b,ch)=(2,13,15)

15F




TVC sigma (RMS) (c,b,ch)=(2,14,0)

TVC sigma (RMS) (c,b,ch)=(2,14,4)

TVC sigma (RMS) (c,b,ch)=(2,14,8)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,12)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,1)

TVC sigma (RMS) (c,b,ch)=(2,14,5)

TVC sigma (RMS) (c,b,ch)=(2,14,9)

TVC sigma (RMS) (c,b,ch)=(2,14,13)

100

TVC sigma (RMS) (c,b,ch)=(2,14,2)

TVC sigma (RMS) (c,b,ch)=(2,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,10)

TVC sigma (RMS) (c,b,ch)=(2,14,14)

TVC sigma (RMS) (c,b,ch)=(2,14,3)

15

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,7)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,11)

1
100

TVC sigma (RMS) (c,b,ch)=(2,14,15)

15F




TVC sigma (RMS) (c,b,ch)=(2,15,0)

TVC sigma (RMS) (c,b,ch)=(2,15,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,15,8)

,_\
T
1

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,15,12)

TVC sigma (RMS) (c,b,ch)=(2,15,1)

15

TVC sigma (RMS) (c,b,ch)=(2,15,5)

15

TVC sigma (RMS) (c,b,ch)=(2,15,9)

TVC sigma (RMS) (c,b,ch)=(2,15,13)

TVC sigma (RMS) (c,b,ch)=(2,15,2)

TVC sigma (RMS) (c,b,ch)=(2,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(2,15,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(2,15,14)

TVC sigma (RMS) (c,b,ch)=(2,15,3)

TVC sigma (RMS) (c,b,ch)=(2,15,7)
T T

10

TVC sigma (RMS) (c,b,ch)=(2,15,11)

TVC sigma (RMS) (c,b,ch)=(2,15,15)

15 H




TVC sigma (RMS) (c,b,ch)=(3,0,0)

0

TVC sigma (RMS) (c,b,ch)=(3,0,4)

TVC sigma (RMS) (c,b,ch)=(3,0,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(3,0,12)

T T
2F -

TVC sigma (RMS) (c,b,ch)=(3,0,1)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(3,0,5)

T T
2k

TVC sigma (RMS) (c,b,ch)=(3,0,9)

T T
2

15

TVC sigma (RMS) (c,b,ch)=(3,0,13)

TVC sigma (RMS) (c,b,ch)=(3,0,2)

TVC sigma (RMS) (c,b,ch)=(3,0,6)

A I

TVC sigma (RMS) (c,b,ch)=(3,0,10)

2F T T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,0,14)

TVC sigma (RMS) (c,b,ch)=(3,0,3)

TVC sigma (RMS) (c,b,ch)=(3,0,7)

TVC sigma (RMS) (c,b,ch)=(3,0,11)
2 T T

TVC sigma (RMS) (c,b,ch)=(3,0,15)

15[ .




TVC sigma (RMS) (c,b,ch)=(3,1,0)

Il L L

TVC sigma (RMS) (c,b,ch)=(3,1,4)

TVC sigma (RMS) (c,b,ch)=(3,1,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(3,1,12)

TVC sigma (RMS) (c,b,ch)=(3,1,1)

15 1

TVC sigma (RMS) (c,b,ch)=(3,1,5)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(3,1,9)

15 -

TVC sigma (RMS) (c,b,ch)=(3,1,13)

15 -

TVC sigma (RMS) (c,b,ch)=(3,1,2)

N

TVC sigma (RMS) (c,b,ch)=(3,1,6)

F S

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,1,14)

TVC sigma (RMS) (c,b,ch)=(3,1,3)

TVC sigma (RMS) (c,b,ch)=(3,1,7)

15F -

TVC sigma (RMS) (c,b,ch)=(3,1,11)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(3,1,15)

T T
2k .

15[ -1




TVC sigma (RMS) (c,b,ch)=(3,2,0)

TVC sigma (RMS) (c,b,ch)=(3,2,4)

ok
15‘—\/‘M|—|‘\f
1 L]

TVC sigma (RMS) (c,b,ch)=(3,2,8)

T T
2k

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(3,2,12)

TVC sigma (RMS) (c,b,ch)=(3,2,1)

T T
2k -

=

TVC sigma (RMS) (c,b,ch)=(3,2,5)

15 -1

I

TVC sigma (RMS) (c,b,ch)=(3,2,9)

25 M

15 B

TVC sigma (RMS) (c,b,ch)=(3,2,13)

25 H

15 M

TVC sigma (RMS) (c,b,ch)=(3,2,2)

TVC sigma (RMS) (c,b,ch)=(3,2,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,2,10)

15

0.5

1
% 50 00

TVC sigma (RMS) (c,b,ch)=(3,2,14)

25

15

N
L B i e e

TVC sigma (RMS) (c,b,ch)=(3,2,3)

15k -

0

TVC sigma (RMS) (c,b,ch)=(3,2,7)

15 1

TVC sigma (RMS) (c,b,ch)=(3,2,11)

15 H

TVC sigma (RMS) (c,b,ch)=(3,2,15)




TVC sigma (RMS) (c,b,ch)=(3,3,0)

i
I

TVC sigma (RMS) (c,b,ch)=(3,3,4)

TVC sigma (RMS) (c,b,ch)=(3,3,8)

2k .

o

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(3,3,12)

TVC sigma (RMS) (c,b,ch)=(3,3,1)

TVC sigma (RMS) (c,b,ch)=(3,3,5)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(3,3,9)

TVC sigma (RMS) (c,b,ch)=(3,3,13)

15

TVC sigma (RMS) (c,b,ch)=(3,3,2)

TVC sigma (RMS) (c,b,ch)=(3,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,3,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(3,3,14)

~
LB B e S e e e e e i

TVC sigma (RMS) (c,b,ch)=(3,3,3)

15 -1

o

TVC sigma (RMS) (c,b,ch)=(3,3,7)

T T
2F .

5

TVC sigma (RMS) (c,b,ch)=(3,3,11)

TVC sigma (RMS) (c,b,ch)=(3,3,15)

15F H




TVC sigma (RMS) (c,b,ch)=(3,4,0)

H
T
N

TVC sigma (RMS) (c,b,ch)=(3,4,4)

-
T

o

TVC sigma (RMS) (c,b,ch)=(3,4,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(3,4,12)

TVC sigma (RMS) (c,b,ch)=(3,4,1)

TVC sigma (RMS) (c,b,ch)=(3,4,5)

T T
2 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,4,13)

TVC sigma (RMS) (c,b,ch)=(3,4,2)

15

e T

TVC sigma (RMS) (c,b,ch)=(3,4,6)

TVC sigma (RMS) (c,b,ch)=(3,4,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,4,14)

TVC sigma (RMS) (c,b,ch)=(3,4,3)

15[

b

TVC sigma (RMS) (c,b,ch)=(3,4,7)

TVC sigma (RMS) (c,b,ch)=(3,4,11)

15[

TVC sigma (RMS) (c,b,ch)=(3,4,15)




TVC sigma (RMS) (c,b,ch)=(3,5,0)

TVC sigma (RMS) (c,b,ch)=(3,5,4)

SF
mW |

-

TVC sigma (RMS) (c,b,ch)=(3,5,12)

2 T T

TVC sigma (RMS) (c,b,ch)=(3,5,1)

TVC sigma (RMS) (c,b,ch)=(3,5,5)

2F T ]

TVC sigma (RMS) (c,b,ch)=(3,5,9)

T T
2k -

15 -

0

TVC sigma (RMS) (c,b,ch)=(3,5,13)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(3,5,2)

TVC sigma (RMS) (c,b,ch)=(3,5,6)

2F T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,5,14)

TVC sigma (RMS) (c,b,ch)=(3,5,3)

TVC sigma (RMS) (c,b,ch)=(3,5,7)

T T
2k .

15 R

TVC sigma (RMS) (c,b,ch)=(3,5,11)

T T
2k .

15F -

TVC sigma (RMS) (c,b,ch)=(3,5,15)
2 T T




TVC sigma (RMS) (c,b,ch)=(3,6,0)

TVC sigma (RMS) (c,b,ch)=(3,6,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,12)

TVC sigma (RMS) (c,b,ch)=(3,6,1)

15 -1

=

TVC sigma (RMS) (c,b,ch)=(3,6,5)

TVC sigma (RMS) (c,b,ch)=(3,6,9)

TVC sigma (RMS) (c,b,ch)=(3,6,13)

TVC sigma (RMS) (c,b,ch)=(3,6,2)

N T

TVC sigma (RMS) (c,b,ch)=(3,6,6)

L T

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,6,14)

TVC sigma (RMS) (c,b,ch)=(3,6,3)

TVC sigma (RMS) (c,b,ch)=(3,6,7)

05k

TVC sigma (RMS) (c,b,ch)=(3,6,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,6,15)

T T
2k H
15[ 1
1k H
PR B
50 100




TVC sigma (RMS) (c,b,ch)=(3,7,0)

TVC sigma (RMS) (c,b,ch)=(3,7,4)

E
L

TVC sigma (RMS) (c,b,ch)=(3,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(3,7,12)

TVC sigma (RMS) (c,b,ch)=(3,7,1)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(3,7,5)

T T
2k -

151 E

TVC sigma (RMS) (c,b,ch)=(3,7,9)

25 T T

TVC sigma (RMS) (c,b,ch)=(3,7,13)

TVC sigma (RMS) (c,b,ch)=(3,7,2)

TVC sigma (RMS) (c,b,ch)=(3,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,7,10)

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(3,7,14)

-
o
T T T T T T T T T

TVC sigma (RMS) (c,b,ch)=(3,7,3)

2k 4
15J\|_|V\/\I\'Jm
E g

1

TVC sigma (RMS) (c,b,ch)=(3,7,7)

15pF

TVC sigma (RMS) (c,b,ch)=(3,7,11)

TVC sigma (RMS) (c,b,ch)=(3,7,15)

15F




TVC sigma (RMS) (c,b,ch)=(3,8,0)

T
LT

TVC sigma (RMS) (c,b,ch)=(3,8,4)

1B

TVC sigma (RMS) (c,b,ch)=(3,8,8)

,_‘
T

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(3,8,12)

TVC sigma (RMS) (c,b,ch)=(3,8,1)

TVC sigma (RMS) (c,b,ch)=(3,8,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8,9)

T T
2 ]
15f -
1k
o5
0, 1 1
50 00
TVC sigma (RMS) (c,b,ch)=(3,8,13)
T T
ok H
15 H

TVC sigma (RMS) (c,b,ch)=(3,8,2)

TVC sigma (RMS) (c,b,ch)=(3,8,6)

2 T T

15

TVC sigma (RMS) (c,b,ch)=(3,8,10)

15

0.5

0

TVC sigma (RMS) (c,b,ch)=(3,8,14)

TVC sigma RMS) (c,b,ch) (3 8,3)

2k -
15 -1
1F

Lr

TVC sigma (RMS) (c,b,ch)=(3,8,7)

, I

15 \I/W)\I\J\/I/\l

. I
100

TVC sigma (RMS) (c,b,ch)=(3,8,11)

T T
2k m
15 1
1
05
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(3,8, 15)

i i
I I
100




TVC sigma (RMS) (c,b,ch)=(3,9,0)

TVC sigma (RMS) (c,b,ch)=(3,9,4)

T T
2k .

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,9,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,9,12)

TVC sigma (RMS) (c,b,ch)=(3,9,1)

2

15

TVC sigma (RMS) (c,b,ch)=(3,9,5)

15 -1

=

TVC sigma (RMS) (c,b,ch)=(3,9,9)

TVC sigma (RMS) (c,b,ch)=(3,9,13)

L I
Hfl\l\N/‘r

TVC sigma (RMS) (c,b,ch)=(3,9,2)

TVC sigma (RMS) (c,b,ch)=(3,9,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,9,14)

15

05

TVC sigma (RMS) (c,b,ch)=(3,9,3)

,F T T ]

15F

—

TVC sigma (RMS) (c,b,ch)=(3,9,7)

15

TVC sigma (RMS) (c,b,ch)=(3,9,11)

TVC sigma (RMS) (c,b,ch)=(3,9,15)

15




TVC sigma (RMS) (c,b,ch)=(3,10,0)

TVC sigma (RMS) (c,b,ch)=(3,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,8)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,12)

TVC sigma (RMS) (c,b,ch)=(3,10,1)

15

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,5)

15

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,9)

TVC sigma (RMS) (c,b,ch)=(3,10,13)

TVC sigma (RMS) (c,b,ch)=(3,10,2)

TVC sigma (RMS) (c,b,ch)=(3,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,10)

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,14)

TVC sigma (RMS) (c,b,ch)=(3,10,3)

T
2k

15

1
100

TVC sigma (RMS) (c,b,ch)=(3,10,7)

TVC sigma (RMS) (c,b,ch)=(3,10,11)

TVC sigma (RMS) (c,b,ch)=(3,10,15)

15




TVC sigma (RMS) (c,b,ch)=(3,11,0)

-
T

TVC sigma (RMS) (c,b,ch)=(3,11,4)

TVC sigma (RMS) (c,b,ch)=(3,11,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(3,11,12)

15

15

TVC sigma (RMS) (c,b,ch)=(3,11,1)

TVC sigma (RMS) (c,b,ch)=(3,11,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,9)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,13)

TVC sigma (RMS) (c,b,ch)=(3,11,2)

TVC sigma (RMS) (c,b,ch)=(3,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(3,11,14)

TVC sigma (RMS) (c,b,ch)=(3,11,3)
T T

15F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,11)

15 5

1
50 100

TVC sigma (RMS) (c,b,ch)=(3,11,15)

15 H




TVC sigma (RMS) (c,b,ch)=(4,0,0)

.F
15J»¢/MVV
1

by

TVC sigma (RMS) (c,b,ch)=(4,0,4)

T T
2 -

TVC sigma (RMS) (c,b,ch)=(4,0,8)

TVC sigma (RMS) (c,b,ch)=(4,0,12)

TVC sigma (RMS) (c,b,ch)=(4,0,1)

2

15

TVC sigma (RMS) (c,b,ch)=(4,0,5)

15

TVC sigma (RMS) (c,b,ch)=(4,0,9)

TVC sigma (RMS) (c,b,ch)=(4,0,13)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,0,2)

TVC sigma (RMS) (c,b,ch)=(4,0,6)

=

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,0,10)

2 T T

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,0,14)

15

e P

TVC sigma (RMS) (c,b,ch)=(4,0,3)

15 1

TVC sigma (RMS) (c,b,ch)=(4,0,7)
T T
2 -

TVC sigma (RMS) (c,b,ch)=(4,0,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(4,0,15)

T T
2F -

15F -1




TVC sigma (RMS) (c,b,ch)=(4,1,0)

T
=

TVC sigma (RMS) (c,b,ch)=(4,1,4)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,1,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(4,1,12)

T T
2F -

TVC sigma (RMS) (c,b,ch)=(4,1,1)

2

15

TVC sigma (RMS) (c,b,ch)=(4,1,5)

2 T T

TVC sigma (RMS) (c,b,ch)=(4,1,9)

50 100

TVC sigma (RMS) (c,b,ch)=(4,1,13)

TVC sigma (RMS) (c,b,ch)=(4,1,2)

TVC sigma (RMS) (c,b,ch)=(4,1,6)

2 T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,1,14)

TVC sigma (RMS) (c,b,ch)=(4,1,3)

.F ]
15(\/\W\)W

TVC sigma (RMS) (c,b,ch)=(4,1,7)

2F T T =

TVC sigma (RMS) (c,b,ch)=(4,1,11)

15F 1

TVC sigma (RMS) (c,b,ch)=(4,1,15)




TVC sigma (RMS) (c,b,ch)=(4,2,0)

TVC sigma (RMS) (c,b,ch)=(4,2,4)

TVC sigma (RMS) (c,b,ch)=(4,2,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,2,12)

TVC sigma (RMS) (c,b,ch)=(4,2,1)

TVC sigma (RMS) (c,b,ch)=(4,2,5)

T T
2 -

15 -

TVC sigma (RMS) (c,b,ch)=(4,2,9)

TVC sigma (RMS) (c,b,ch)=(4,2,13)

TVC sigma (RMS) (c,b,ch)=(4,2,2)

LT

TVC sigma (RMS) (c,b,ch)=(4,2,6)

15

L TH

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,2,14)

TVC sigma (RMS) (c,b,ch)=(4,2,3)

15F

TVC sigma (RMS) (c,b,ch)=(4,2,7)

15F

TVC sigma (RMS) (c,b,ch)=(4,2,11)

TVC sigma (RMS) (c,b,ch)=(4,2,15)




TVC sigma (RMS) (c,b,ch)=(4,3,0)

I'|I 1 1

TVC sigma (RMS) (c,b,ch)=(4,3,4)

0l

TVC sigma (RMS) (c,b,ch)=(4,3,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,3,12)

TVC sigma (RMS) (c,b,ch)=(4,3,1)

15 -

bl

TVC sigma (RMS) (c,b,ch)=(4,3,5)

T T
2 -

15 =1

TVC sigma (RMS) (c,b,ch)=(4,3,9)

TVC sigma (RMS) (c,b,ch)=(4,3,13)

TVC sigma (RMS) (c,b,ch)=(4,3,2)

TVC sigma (RMS) (c,b,ch)=(4,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,3,14)

15

TVC sigma (RMS) (c,b,ch)=(4,3,3)

T T
2F

TVC sigma (RMS) (c,b,ch)=(4,3,7)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,11)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,3,15)

25




TVC sigma (RMS) (c,b,ch)=(4,4,0)

TVC sigma (RMS) (c,b,ch)=(4,4,4)

TVC sigma (RMS) (c,b,ch)=(4,4,8)

TVC sigma (RMS) (c,b,ch)=(4,4,12)

TVC sigma (RMS) (c,b,ch)=(4,4,1)

15 _

TVC sigma (RMS) (c,b,ch)=(4,4,5)

fal

TVC sigma (RMS) (c,b,ch)=(4,4,9)

15 1

TVC sigma (RMS) (c,b,ch)=(4,4,13)

TVC sigma (RMS) (c,b,ch)=(4,4,2)

TVC sigma (RMS) (c,b,ch)=(4,4,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,4,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,4,14)

TVC sigma (RMS) (c,b,ch)=(4,4,3)

T T
AR .

15F T

5

TVC sigma (RMS) (c,b,ch)=(4,4,7)
T T
oL ]

15 T

TVC sigma (RMS) (c,b,ch)=(4,4,11)

15 1

TVC sigma (RMS) (c,b,ch)=(4,4,15)




TVC sigma (RMS) (c,b,ch)=(4,5,0)

=
?\

TVC sigma (RMS) (c,b,ch)=(4,5,8)

o
ol
o

TVC sigma (RMS) (c,b,ch)=(4,5,12)

TVC sigma (RMS) (c,b,ch)=(4,5,1)

15

=

1
100

TVC sigma (RMS) (c,b,ch)=(4,5,5)

15

100

TVC sigma (RMS) (c,b,ch)=(4,5,9)

TVC sigma (RMS) (c,b,ch)=(4,5,13)

TVC sigma (RMS) (c,b,ch)=(4,5,2)

15

L T

TVC sigma (RMS) (c,b,ch)=(4,5,6)

1
100

TVC sigma (RMS) (c,b,ch)=(4,5,10)

1
100

TVC sigma (RMS) (c,b,ch)=(4,5,14)

TVC sigma (RMS) (c,b,ch)=(4,5,3)

TVC sigma (RMS) (c,b,ch)=(4,5,7)

100

TVC sigma (RMS) (c,b,ch)=(4,5,11)

15

100

TVC sigma (RMS) (c,b,ch)=(4,5,15)




TVC sigma (RMS) (c,b,ch)=(4,6,0)

TVC sigma (RMS) (c,b,ch)=(4,6,8)

T T
2 4
15[ —
1P =
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(4,6,12)
T T
2 4
15 B
I =
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,1)

2k -
15 =1
1 -
0.5 -1
0 1 1

TVC sigma (RMS) (c,b,ch)=(4,6,5)

2 -
15 -1
1| Lo

TVC sigma (RMS) (c,b,ch)=(4,6,9)

TVC sigma (RMS) (c,b,ch)=(4,6,13)

TVC sigma (RMS) (c,b,ch)=(4,6,2)

15

0.5

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,6)

AT

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,6,14)

TVC sigma (RMS) (c,b,ch)=(4,6,3)

TVC sigma (RMS) (c,b,ch)=(4,6,7)

S

50 100

TVC sigma (RMS) (c,b,ch)=(4,6,11)

15 H

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,6,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(4,7,0)

TVC sigma (RMS) (c,b,ch)=(4,7,4)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,7,8)

o

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(4,7,12)

TVC sigma (RMS) (c,b,ch)=(4,7,1)

TVC sigma (RMS) (c,b,ch)=(4,7,5)

TVC sigma (RMS) (c,b,ch)=(4,7,9)

TVC sigma (RMS) (c,b,ch)=(4,7,13)

25F T T

TVC sigma (RMS) (c,b,ch)=(4,7,2)

TVC sigma (RMS) (c,b,ch)=(4,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,7,10)

15

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,7,14)

15

TVC sigma (RMS) (c,b,ch)=(4,7,3)

15F -

TVC sigma (RMS) (c,b,ch)=(4,7,7)
T T
2F -

15pF -1

1 b

TVC sigma (RMS) (c,b,ch)=(4,7,11)

15F M

TVC sigma (RMS) (c,b,ch)=(4,7,15)




TVC sigma (RMS) (c,b,ch)=(4,8,0)

TVC sigma (RMS) (c,b,ch)=(4,8,4)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,8,12)

TVC sigma (RMS) (c,b,ch)=(4,8,1)

TVC sigma (RMS) (c,b,ch)=(4,8,5)

15 =1

O

TVC sigma (RMS) (c,b,ch)=(4,8,9)

15 M

TVC sigma (RMS) (c,b,ch)=(4,8,13)

TVC sigma (RMS) (c,b,ch)=(4,8,2)

TVC sigma (RMS) (c,b,ch)=(4,8,6)

-
2
T T T T T T T T T

L N T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,8,14)

TVC sigma (RMS) (c,b,ch)=(4,8,3)

TVC sigma (RMS) (c,b,ch)=(4,8,7)

15pF M

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,11)

15 5

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,8,15)

15 H




TVC sigma (RMS) (c,b,ch)=(4,9,0)

TVC sigma (RMS) (c,b,ch)=(4,9,4)

1
100

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,12)

T
2k

TVC sigma (RMS) (c,b,ch)=(4,9,1)

TVC sigma (RMS) (c,b,ch)=(4,9,5)

TVC sigma (RMS) (c,b,ch)=(4,9,9)

TVC sigma (RMS) (c,b,ch)=(4,9,13)

15

TVC sigma (RMS) (c,b,ch)=(4,9,2)

TVC sigma (RMS) (c,b,ch)=(4,9,6)

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,10)

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,14)

15

o
T

TVC sigma (RMS) (c,b,ch)=(4,9,3)

15

o

1
100

TVC sigma (RMS) (c,b,ch)=(4,9,7)

15F

TVC sigma (RMS) (c,b,ch)=(4,9,11)

100

15

TVC sigma (RMS) (c,b,ch)=(4,9,15)

100

15[




TVC sigma (RMS) (c,b,ch)=(4,10,0)

T T
ok

o

TVC sigma (RMS) (c,b,ch)=(4,10,4)

TVC sigma (RMS) (c,b,ch)=(4,10,8)

=
N & N
1—L\1
I T T

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(4,10,12)

TVC sigma (RMS) (c,b,ch)=(4,10,1)

TVC sigma (RMS) (c,b,ch)=(4,10,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,9)

25F T T =

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,13)

TVC sigma (RMS) (c,b,ch)=(4,10,2)

TVC sigma (RMS) (c,b,ch)=(4,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,10,14)

TVC sigma (RMS) (c,b,ch)=(4,10,3)
T T

TVC sigma (RMS) (c,b,ch)=(4,10,7)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,11)

15F H

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,10,15)




TVC sigma (RMS) (c,b,ch)=(4,11,0)

T
2k

=]

1
100

TVC sigma (RMS) (c,b,ch)=(4,11,4)

TVC sigma (RMS) (c,b,ch)=(4,11,8)

il

o
ol
o

TVC sigma (RMS) (c,b,ch)=(4,11,12)

100

TVC sigma (RMS) (c,b,ch)=(4,11,1)

TVC sigma (RMS) (c,b,ch)=(4,11,5)

TVC sigma (RMS) (c,b,ch)=(4,11,9)

TVC sigma (RMS) (c,b,ch)=(4,11,13)

100

TVC sigma (RMS) (c,b,ch)=(4,11,2)

TVC sigma (RMS) (c,b,ch)=(4,11,6)

1
100

TVC sigma (RMS) (c,b,ch)=(4,11,10)

TVC sigma (RMS) (c,b,ch)=(4,11,14)

TVC sigma (RMS) (c,b,ch)=(4,11,3)

TVC sigma (RMS) (c,b,ch)=(4,11,7)

100

TVC sigma (RMS) (c,b,ch)=(4,11,11)

15

100

TVC sigma (RMS) (c,b,ch)=(4,11,15)




TVC sigma (RMS) (c,b,ch)=(4,12,0)

T T
2k

TVC sigma (RMS) (c,b,ch)=(4,12,4)

-
T

il

TVC sigma (RMS) (c,b,ch)=(4,12,8)

TVC sigma (RMS) (c,b,ch)=(4,12,12)

TVC sigma (RMS) (c,b,ch)=(4,12,1)

TVC sigma (RMS) (c,b,ch)=(4,12,5)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(4,12,9)

T T
2k

TVC sigma (RMS) (c,b,ch)=(4,12,13)

15

TVC sigma (RMS) (c,b,ch)=(4,12,2)

oF T T

TVC sigma (RMS) (c,b,ch)=(4,12,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,12,14)

TVC sigma (RMS) (c,b,ch)=(4,12,3)

il

TVC sigma (RMS) (c,b,ch)=(4,12,7)

15F

TVC sigma (RMS) (c,b,ch)=(4,12,11)

TVC sigma (RMS) (c,b,ch)=(4,12,15)

T T
2k

15




TVC sigma (RMS) (c,b,ch)=(4,13,0)

TVC sigma (RMS) (c,b,ch)=(4,13,4)

TVC sigma (RMS) (c,b,ch)=(4,13,8)

2 T T

-

o

TVC sigma (RMS) (c,b,ch)=(4,13,12)

Ind

TVC sigma (RMS) (c,b,ch)=(4,13,1)

L
1 1
50 100
TVC sigma (RMS) (c,b,ch)=(4,13,5)
oF T T ]
15 =1
1F L
1 1
50 00

TVC sigma (RMS) (c,b,ch)=(4,13,9)

TVC sigma (RMS) (c,b,ch)=(4,13,13)
2 T T

TVC sigma (RMS) (c,b,ch)=(4,13,2)

TVC sigma (RMS) (c,b,ch)=(4,13,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,13,14)

2 T T

TVC sigma (RMS) (c,b,ch)=(4,13,3)

TVC sigma (RMS) (c,b,ch)=(4,13,7)
T T

50 100

TVC sigma (RMS) (c,b,ch)=(4,13,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,13,15)
2 T T

15 -




TVC sigma (RMS) (c,b,ch)=(4,14,0)

TVC sigma (RMS) (c,b,ch)=(4,14,4)

2k

2

50 100

TVC sigma (RMS) (c,b,ch)=(4,14,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,14,12)

TVC sigma (RMS) (c,b,ch)=(4,14,1)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,14,5)

o

TVC sigma (RMS) (c,b,ch)=(4,14,9)

TVC sigma (RMS) (c,b,ch)=(4,14,13)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(4,14,2)

TVC sigma (RMS) (c,b,ch)=(4,14,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,14,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,14,14)

TVC sigma (RMS) (c,b,ch)=(4,14,3)

TVC sigma (RMS) (c,b,ch)=(4,14,7)

T T
2k

15F

50 100

TVC sigma (RMS) (c,b,ch)=(4,14,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,14,15)

10




TVC sigma (RMS) (c,b,ch)=(4,15,0)

TVC sigma (RMS) (c,b,ch)=(4,15,4)

TVC sigma (RMS) (c,b,ch)=(4,15,8)

TVC sigma (RMS) (c,b,ch)=(4,15,12)

T T
2

TVC sigma (RMS) (c,b,ch)=(4,15,1)

T T
2k

TVC sigma (RMS) (c,b,ch)=(4,15,5)

TVC sigma (RMS) (c,b,ch)=(4,15,9)

TVC sigma (RMS) (c,b,ch)=(4,15,13)

TVC sigma (RMS) (c,b,ch)=(4,15,2)

TVC sigma (RMS) (c,b,ch)=(4,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(4,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(4,15,14)

TVC sigma (RMS) (c,b,ch)=(4,15,3)

TVC sigma (RMS) (c,b,ch)=(4,15,7)

T T
2k .

15 1

TVC sigma (RMS) (c,b,ch)=(4,15,11)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(4,15,15)

T T
2k .

15F -




TVC sigma (RMS) (c,b,ch)=(5,0,0)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(5,0,4)

T T
2k .

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(5,0,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,0,12)

TVC sigma (RMS) (c,b,ch)=(5,0,1)

TVC sigma (RMS) (c,b,ch)=(5,0,5)
T T
2k 4

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,9)

TVC sigma (RMS) (c,b,ch)=(5,0,13)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(5,0,2)

TVC sigma (RMS) (c,b,ch)=(5,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,10)

15

Y

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,0,14)

TVC sigma (RMS) (c,b,ch)=(5,0,3)

15F -

TVC sigma (RMS) (c,b,ch)=(5,0,7)

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,0,11)

TVC sigma (RMS) (c,b,ch)=(5,0,15)

2F T T =




TVC sigma (RMS) (c,b,ch)=(5,1,0)

2F T T 3

.F
15/(|H/\(\A/W |
L]

TVC sigma (RMS) (c,b,ch)=(5,1,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,1,12)

TVC sigma (RMS) (c,b,ch)=(5,1,1)

2

15

TVC sigma (RMS) (c,b,ch)=(5,1,5)

.F ]
lsr(\(M/IJ

TVC sigma (RMS) (c,b,ch)=(5,1,9)

TVC sigma (RMS) (c,b,ch)=(5,1,13)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(5,1,2)

TVC sigma (RMS) (c,b,ch)=(5,1,6)

2F T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,1,14)

TVC sigma (RMS) (c,b,ch)=(5,1,3)

TVC sigma (RMS) (c,b,ch)=(5,1,7)

T T
2k .

15F -

=T

TVC sigma (RMS) (c,b,ch)=(5,1,11)

TVC sigma (RMS) (c,b,ch)=(5,1,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(5,2,0)

T T
2 .

TVC sigma (RMS) (c,b,ch)=(5,2,4)

2 T T

i
- o

i%
1 1

TVC sigma (RMS) (c,b,ch)=(5,2,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,2,12)

TVC sigma (RMS) (c,b,ch)=(5,2,1)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(5,2,5)

TVC sigma (RMS) (c,b,ch)=(5,2,9)

15 -

TVC sigma (RMS) (c,b,ch)=(5,2,13)

T T
2k -

15 =1

TVC sigma (RMS) (c,b,ch)=(5,2,2)

TVC sigma (RMS) (c,b,ch)=(5,2,6)

2

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,2,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,2,14)

TVC sigma (RMS) (c,b,ch)=(5,2,3)

2

TVC sigma (RMS) (c,b,ch)=(5,2,7)
T T
ok ]

15F -

TVC sigma (RMS) (c,b,ch)=(5,2,11)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(5,2,15)

T T
2k .

15F -1




TVC sigma (RMS) (c,b,ch)=(5,3,0)

T T
2k .

15

TVC sigma (RMS) (c,b,ch)=(5,3,4)

2F T T E

ol

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,8)
T T

TVC sigma (RMS) (c,b,ch)=(5,3,12)

T T
ok .

TVC sigma (RMS) (c,b,ch)=(5,3,1)

1 1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,5)

T T
2k -

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,9)

T T
2k -

10

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,2)

2 T T

TVC sigma (RMS) (c,b,ch)=(5,3,6)

AL T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,10)

15

0 50

TVC sigma (RMS) (c,b,ch)=(5,3,14)

T

1
100

TVC sigma (RMS) (c,b,ch)=(5,3,3)

,F T T

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,7)

TVC sigma (RMS) (c,b,ch)=(5,3,11)

2F T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,3,15)




TVC sigma (RMS) (c,b,ch)=(5,4,0)

2 .
15 1
1| |

|

TVC sigma (RMS) (c,b,ch)=(5,4,4)

T
2k

=

100

TVC sigma (RMS) (c,b,ch)=(5,4,8)

-
T

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,4,12)

100

TVC sigma (RMS) (c,b,ch)=(5,4,1)

2k
15
1]
1

TVC sigma (RMS) (c,b,ch)=(5,4,5)

T
2

15

W

TVC sigma (RMS) (c,b,ch)=(5,4,9)

TVC sigma (RMS) (c,b,ch)=(5,4,13)

TVC sigma (RMS) (c,b,ch)=(5,4,2)

TVC sigma (RMS) (c,b,ch)=(5,4,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,4,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,4,14)

TVC sigma (RMS) (c,b,ch)=(5,4,3)

1
100

TVC sigma (RMS) (c,b,ch)=(5,4,7)

1
100

TVC sigma (RMS) (c,b,ch)=(5,4,11)

15[

1
100

TVC sigma (RMS) (c,b,ch)=(5,4,15)

15




TVC sigma (RMS) (c,b,ch)=(5,5,0)

TVC sigma (RMS) (c,b,ch)=(5,5,4)

T T
2

TVC sigma (RMS) (c,b,ch)=(5,5,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,5,12)

TVC sigma (RMS) (c,b,ch)=(5,5,1)

Fulll

TVC sigma (RMS) (c,b,ch)=(5,5,5)

T T
2k -

15 -1

=

TVC sigma (RMS) (c,b,ch)=(5,5,9)

15 M

TVC sigma (RMS) (c,b,ch)=(5,5,13)

151 M

TVC sigma (RMS) (c,b,ch)=(5,5,2)

TVC sigma (RMS) (c,b,ch)=(5,5,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,5,14)

-
o
— T T T T T T T T

TVC sigma (RMS) (c,b,ch)=(5,5,3)

15F -1

i

TVC sigma (RMS) (c,b,ch)=(5,5,7)

TVC sigma (RMS) (c,b,ch)=(5,5,11)

TVC sigma (RMS) (c,b,ch)=(5,5,15)




TVC sigma (RMS) (c,b,ch)=(5,6,0)

Sk ]
15‘fj\ _
L]

TVC sigma (RMS) (c,b,ch)=(5,6,4)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(5,6,8)

TVC sigma (RMS) (c,b,ch)=(5,6,12)

I

TVC sigma (RMS) (c,b,ch)=(5,6,1)

TVC sigma (RMS) (c,b,ch)=(5,6,5)

T T
2k -

15 =1

TVC sigma (RMS) (c,b,ch)=(5,6,9)

15 -

TVC sigma (RMS) (c,b,ch)=(5,6,13)

TVC sigma (RMS) (c,b,ch)=(5,6,2)

2

TVC sigma (RMS) (c,b,ch)=(5,6,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,6,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,6,14)

TVC sigma (RMS) (c,b,ch)=(5,6,3)

,F T T ]

15[ b

TVC sigma (RMS) (c,b,ch)=(5,6,7)

15 1

TVC sigma (RMS) (c,b,ch)=(5,6,11)

T T
2k .

15 1

TVC sigma (RMS) (c,b,ch)=(5,6,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(5,7,0)

T T
2 .

T
f

TVC sigma (RMS) (c,b,ch)=(5,7,4)

2k ]
15J\4|\'\)VF‘( _
1 g

TVC sigma (RMS) (c,b,ch)=(5,7,8)

T T
AN 4
15 N
- 4
L
1 1
0 50 100
TVC sigma (RMS) (c,b,ch)=(5,7,12)
T T
a4 -
sk J
o J
1 L
n n n n 1 n n n n 1 n
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,1)

15F E

TVC sigma (RMS) (c,b,ch)=(5,7,5)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(5,7,9)

TVC sigma (RMS) (c,b,ch)=(5,7,13)

TVC sigma (RMS) (c,b,ch)=(5,7,2)

TVC sigma (RMS) (c,b,ch)=(5,7,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,7,10)

15

=T T

1
100

0 50

TVC sigma (RMS) (c,b,ch)=(5,7,14)

N |

TVC sigma (RMS) (c,b,ch)=(5,7,3)

TVC sigma (RMS) (c,b,ch)=(5,7,7)

T T
2F .

15F -

TVC sigma (RMS) (c,b,ch)=(5,7,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(5,7,15)




TVC sigma (RMS) (c,b,ch)=(5,8,0)

50 100

TVC sigma (RMS) (c,b,ch)=(5,8,4)

TVC sigma (RMS) (c,b,ch)=(5,8,8)

T T
2 .

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,8,12)

TVC sigma (RMS) (c,b,ch)=(5,8,1)

T T
2k -

151 E

1 1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,5)

1
50 100

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,13)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,2)

TVC sigma (RMS) (c,b,ch)=(5,8,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,8,10)

TVC sigma (RMS) (c,b,ch)=(5,8,14)

15

= I

TVC sigma (RMS) (c,b,ch)=(5,8,3)

15F -

TVC sigma (RMS) (c,b,ch)=(5,8,7)

T T
2k .

15F -

TVC sigma (RMS) (c,b,ch)=(5,8,11)

TVC sigma (RMS) (c,b,ch)=(5,8,15)

15F -1




TVC sigma (RMS) (c,b,ch)=(5,9,0)

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,4)

SF T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,8)
T T

2

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,9,12)

2F T T

TVC sigma (RMS) (c,b,ch)=(5,9,1)

1 1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,5)

T T
2k -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,9)
T T

2k -

15 -1

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,13)

TVC sigma (RMS) (c,b,ch)=(5,9,2)

2

15

TVC sigma (RMS) (c,b,ch)=(5,9,6)

15

e

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,9,14)

TVC sigma (RMS) (c,b,ch)=(5,9,3)

,F T T ]

15k E

TVC sigma (RMS) (c,b,ch)=(5,9,7)

15 -1

TVC sigma (RMS) (c,b,ch)=(5,9,11)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(5,9,15)




TVC sigma (RMS) (c,b,ch)=(5,10,0)

TVC sigma (RMS) (c,b,ch)=(5,10,4)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,10,1)

15

TVC sigma (RMS) (c,b,ch)=(5,10,5)

1
100

15

TVC sigma (RMS) (c,b,ch)=(5,10,9)

100

TVC sigma (RMS) (c,b,ch)=(5,10,13)

TVC sigma (RMS) (c,b,ch)=(5,10,2)

TVC sigma (RMS) (c,b,ch)=(5,10,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,10,14)

TVC sigma (RMS) (c,b,ch)=(5,10,3)

TVC sigma (RMS) (c,b,ch)=(5,10,7)

15F

0

TVC sigma (RMS) (c,b,ch)=(5,10,11)

100

15F

TVC sigma (RMS) (c,b,ch)=(5,10,15)

100

T
2k




TVC sigma (RMS) (c,b,ch)=(5,11,0)

T T
ok .

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(5,11,4)

TVC sigma (RMS) (c,b,ch)=(5,11,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,11,12)

TVC sigma (RMS) (c,b,ch)=(5,11,1)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(5,11,5)

TVC sigma (RMS) (c,b,ch)=(5,11,9)

]

TVC sigma (RMS) (c,b,ch)=(5,11,13)

TVC sigma (RMS) (c,b,ch)=(5,11,2)

TVC sigma (RMS) (c,b,ch)=(5,11,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,11,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,11,14)

TVC sigma (RMS) (c,b,ch)=(5,11,3)

TVC sigma (RMS) (c,b,ch)=(5,11,7)
T T

TVC sigma (RMS) (c,b,ch)=(5,11,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(5,11,15)




TVC sigma (RMS) (c,b,ch)=(5,12,0)

T T
2 .

TVC sigma (RMS) (c,b,ch)=(5,12,4)
T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,12,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,12,12)

TVC sigma (RMS) (c,b,ch)=(5,12,1)

15

TVC sigma (RMS) (c,b,ch)=(5,12,5)

15

TVC sigma (RMS) (c,b,ch)=(5,12,9)

TVC sigma (RMS) (c,b,ch)=(5,12,13)

TVC sigma (RMS) (c,b,ch)=(5,12,2)

TVC sigma (RMS) (c,b,ch)=(5,12,6)

15

N N N T

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,12,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,12,14)

TVC sigma (RMS) (c,b,ch)=(5,12,3)

TVC sigma (RMS) (c,b,ch)=(5,12,7)

.
lsw

1B

.F
15}”\)‘//
AN

TVC sigma (RMS) (c,b,ch)=(5,12,15)

T T
2k

15




TVC sigma (RMS) (c,b,ch)=(5,13,0)

TVC sigma (RMS) (c,b,ch)=(5,13,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,13,12)

TVC sigma (RMS) (c,b,ch)=(5,13,1)

T T
2k -

15 -

TVC sigma (RMS) (c,b,ch)=(5,13,5)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(5,13,9)

TVC sigma (RMS) (c,b,ch)=(5,13,13)

2

TVC sigma (RMS) (c,b,ch)=(5,13,2)

TVC sigma (RMS) (c,b,ch)=(5,13,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,13,14)

TVC sigma (RMS) (c,b,ch)=(5,13,3)

T T
2k

TVC sigma (RMS) (c,b,ch)=(5,13,7)

TVC sigma (RMS) (c,b,ch)=(5,13,11)

15

TVC sigma (RMS) (c,b,ch)=(5,13,15)




TVC sigma (RMS) (c,b,ch)=(5,14,0)

TVC sigma (RMS) (c,b,ch)=(5,14,4)

TVC sigma (RMS) (c,b,ch)=(5,14,8)

o
ol
o

TVC sigma (RMS) (c,b,ch)=(5,14,12)

100

TVC sigma (RMS) (c,b,ch)=(5,14,1)

15

TVC sigma (RMS) (c,b,ch)=(5,14,5)

1
100

15

TVC sigma (RMS) (c,b,ch)=(5,14,9)

100

TVC sigma (RMS) (c,b,ch)=(5,14,13)

TVC sigma (RMS) (c,b,ch)=(5,14,2)

TVC sigma (RMS) (c,b,ch)=(5,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,10)

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,14)

TVC sigma (RMS) (c,b,ch)=(5,14,3)

15

1
100

TVC sigma (RMS) (c,b,ch)=(5,14,7)

15

100

TVC sigma (RMS) (c,b,ch)=(5,14,11)

15

100

TVC sigma (RMS) (c,b,ch)=(5,14,15)




2

TVC sigma (RMS) (c,b,ch)=(5,15,0)

I

TVC sigma (RMS) (c,b,ch)=(5,15,4)

TVC sigma (RMS) (c,b,ch)=(5,15,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(5,15,12)

TVC sigma (RMS) (c,b,ch)=(5,15,1)

T T
2k

TVC sigma (RMS) (c,b,ch)=(5,15,5)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,9)

TVC sigma (RMS) (c,b,ch)=(5,15,13)

TVC sigma (RMS) (c,b,ch)=(5,15,2)

TVC sigma (RMS) (c,b,ch)=(5,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(5,15,14)

TVC sigma (RMS) (c,b,ch)=(5,15,3)
T T

15 -1

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,7)

T T
2k .

15F -

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,11)

1
50 100

TVC sigma (RMS) (c,b,ch)=(5,15,15)




TVC sigma (RMS) (c,b,ch)=(6,0,0)

T T
ok .

TVC sigma (RMS) (c,b,ch)=(6,0,4)

2F
15 -
1 mt

TVC sigma (RMS) (c,b,ch)=(6,0,8)

T T
2k .

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,0,12)

TVC sigma (RMS) (c,b,ch)=(6,0,1)

T T
2k -

151 E

TVC sigma (RMS) (c,b,ch)=(6,0,5)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(6,0,9)

15 -1

TVC sigma (RMS) (c,b,ch)=(6,0,13)

TVC sigma (RMS) (c,b,ch)=(6,0,2)

2

15

TVC sigma (RMS) (c,b,ch)=(6,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,0,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,0,14)

TVC sigma (RMS) (c,b,ch)=(6,0,3)

T T
2F .

15k E

TVC sigma (RMS) (c,b,ch)=(6,0,7)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(6,0,11)

15[ -1

TVC sigma (RMS) (c,b,ch)=(6,0,15)

15 -1

5




TVC sigma (RMS) (c,b,ch)=(6,1,0)

TVC sigma (RMS) (c,b,ch)=(6,1,4)

2

TVC sigma (RMS) (c,b,ch)=(6,1,8)

TVC sigma (RMS) (c,b,ch)=(6,1,12)

TVC sigma (RMS) (c,b,ch)=(6,1,1)

15

TVC sigma (RMS) (c,b,ch)=(6,1,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,1,9)

TVC sigma (RMS) (c,b,ch)=(6,1,13)

TVC sigma (RMS) (c,b,ch)=(6,1,2)

TVC sigma (RMS) (c,b,ch)=(6,1,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,1,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,1,14)

TVC sigma (RMS) (c,b,ch)=(6,1,3)

1
100

TVC sigma (RMS) (c,b,ch)=(6,1,7)

TVC sigma (RMS) (c,b,ch)=(6,1,11)

T
2k

15F

100

TVC sigma (RMS) (c,b,ch)=(6,1,15)

15




TVC sigma (RMS) (c,b,ch)=(6,2,0)

T T
2 .

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(6,2,4)

T T
2k .

»—\
T
1

TVC sigma (RMS) (c,b,ch)=(6,2,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,2,12)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(6,2,1)

T T
2k

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,5)

25 T T

TVC sigma (RMS) (c,b,ch)=(6,2,9)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,13)

TVC sigma (RMS) (c,b,ch)=(6,2,2)

°F T T =

15

TVC sigma (RMS) (c,b,ch)=(6,2,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,2,10)

TVC sigma (RMS) (c,b,ch)=(6,2,14)

oF T T =

TVC sigma (RMS) (c,b,ch)=(6,2,3)

T T
2k .

15[ b

TVC sigma (RMS) (c,b,ch)=(6,2,7)

TVC sigma (RMS) (c,b,ch)=(6,2,11)
T T
s 4

15F -

TVC sigma (RMS) (c,b,ch)=(6,2,15)




TVC sigma (RMS) (c,b,ch)=(6,3,0)

i
I_l 1 1

TVC sigma (RMS) (c,b,ch)=(6,3,4)

TVC sigma (RMS) (c,b,ch)=(6,3,8)

LT

TVC sigma (RMS) (c,b,ch)=(6,3,12)

TVC sigma (RMS) (c,b,ch)=(6,3,1)

15

TVC sigma (RMS) (c,b,ch)=(6,3,5)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,13)

15

TVC sigma (RMS) (c,b,ch)=(6,3,2)

TVC sigma (RMS) (c,b,ch)=(6,3,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,3,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,3,14)

15

N

TVC sigma (RMS) (c,b,ch)=(6,3,3)

15F -

TVC sigma (RMS) (c,b,ch)=(6,3,7)

TVC sigma (RMS) (c,b,ch)=(6,3,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(6,3,15)




TVC sigma (RMS) (c,b,ch)=(6,4,0)

TVC sigma (RMS) (c,b,ch)=(6,4,4)

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(6,4,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,4,12)

2F T T =

TVC sigma (RMS) (c,b,ch)=(6,4,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(6,4,5)

15 -

TVC sigma (RMS) (c,b,ch)=(6,4,9)

TVC sigma (RMS) (c,b,ch)=(6,4,13)

TVC sigma (RMS) (c,b,ch)=(6,4,2)

TVC sigma (RMS) (c,b,ch)=(6,4,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,4,14)

TVC sigma (RMS) (c,b,ch)=(6,4,3)

TVC sigma (RMS) (c,b,ch)=(6,4,7)

15f E

TVC sigma (RMS) (c,b,ch)=(6,4,11)

15pF M

TVC sigma (RMS) (c,b,ch)=(6,4,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(6,5,0)

TVC sigma (RMS) (c,b,ch)=(6,5,4)

Al ]
. M |
14

TVC sigma (RMS) (c,b,ch)=(6,5,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,5,12)

TVC sigma (RMS) (c,b,ch)=(6,5,1)

T T
2k -

15 1

TVC sigma (RMS) (c,b,ch)=(6,5,5)

T T
2k -

15 -

TVC sigma (RMS) (c,b,ch)=(6,5,9)

TVC sigma (RMS) (c,b,ch)=(6,5,13)

TVC sigma (RMS) (c,b,ch)=(6,5,2)

TVC sigma (RMS) (c,b,ch)=(6,5,6)

15

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,5,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,5,14)

TVC sigma (RMS) (c,b,ch)=(6,5,3)

15F -1

TVC sigma (RMS) (c,b,ch)=(6,5,7)

15F -

TVC sigma (RMS) (c,b,ch)=(6,5,11)
T T
2k 4

15 1

15

TVC sigma (RMS) (c,b,ch)=(6,5,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(6,6,0)

°F T T

2

ék
L

TVC sigma (RMS) (c,b,ch)=(6,6,8)

,_‘
T

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(6,6,12)

TVC sigma (RMS) (c,b,ch)=(6,6,1)

T T
2k -

15F E

TVC sigma (RMS) (c,b,ch)=(6,6,5)

TVC sigma (RMS) (c,b,ch)=(6,6,9)

15 =

TVC sigma (RMS) (c,b,ch)=(6,6,13)

15 -

TVC sigma (RMS) (c,b,ch)=(6,6,2)

2

15

TVC sigma (RMS) (c,b,ch)=(6,6,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,6,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,6,14)

TVC sigma (RMS) (c,b,ch)=(6,6,3)

T T
2k .

15F -1

TVC sigma (RMS) (c,b,ch)=(6,6,7)

15 -1

Il

TVC sigma (RMS) (c,b,ch)=(6,6,11)
T T
2k 4

TVC sigma (RMS) (c,b,ch)=(6,6,15)




TVC sigma (RMS) (c,b,ch)=(6,7,0)

T T
2 .

,_‘
T
1

TVC sigma (RMS) (c,b,ch)=(6,7,4)

2k .
15 -1
mt

1| =

TVC sigma (RMS) (c,b,ch)=(6,7,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,7,12)

TVC sigma (RMS) (c,b,ch)=(6,7,1)

TVC sigma (RMS) (c,b,ch)=(6,7,5)

2F T T =

HW
) L

TVC sigma (RMS) (c,b,ch)=(6,7,9)

TVC sigma (RMS) (c,b,ch)=(6,7,13)

TVC sigma (RMS) (c,b,ch)=(6,7,2)

TVC sigma (RMS) (c,b,ch)=(6,7,6)

-
o
— T T T T

=

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,7,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,7,14)

O

TVC sigma (RMS) (c,b,ch)=(6,7,3)
T T
2k 4

15F E

TVC sigma (RMS) (c,b,ch)=(6,7,7)

2k 4
15 —
1 L

TVC sigma (RMS) (c,b,ch)=(6,7,11)

15F -

TVC sigma (RMS) (c,b,ch)=(6,7,15)

15 R




TVC sigma (RMS) (c,b,ch)=(6,8,0)

°F T T

2k
15
1
0.5
1 1

TVC sigma (RMS) (c,b,ch)=(6,8,8)

2 T T

TVC sigma (RMS) (c,b,ch)=(6,8,12)

TVC sigma (RMS) (c,b,ch)=(6,8,1)
2

TVC sigma (RMS) (c,b,ch)=(6,8,5)

T T
2k -

o

TVC sigma (RMS) (c,b,ch)=(6,8,9)

TVC sigma (RMS) (c,b,ch)=(6,8,13)

TVC sigma (RMS) (c,b,ch)=(6,8,2)

TVC sigma (RMS) (c,b,ch)=(6,8,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,8,10)

TVC sigma (RMS) (c,b,ch)=(6,8,14)

TVC sigma (RMS) (c,b,ch)=(6,8,3)

2F T T =

TVC sigma (RMS) (c,b,ch)=(6,8,7)
T T
2F -

TVC sigma (RMS) (c,b,ch)=(6,8,11)
T T
2k 4

TVC sigma (RMS) (c,b,ch)=(6,8,15)




TVC sigma (RMS) (c,b,ch)=(6,9,0)

T T
2 .

TVC sigma (RMS) (c,b,ch)=(6,9,4)

TVC sigma (RMS) (c,b,ch)=(6,9,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(6,9,12)

TVC sigma (RMS) (c,b,ch)=(6,9,1)

TVC sigma (RMS) (c,b,ch)=(6,9,5)

T T
2

15

TVC sigma (RMS) (c,b,ch)=(6,9,9)

TVC sigma (RMS) (c,b,ch)=(6,9,13)

TVC sigma (RMS) (c,b,ch)=(6,9,2)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,9,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,9,14)

TVC sigma (RMS) (c,b,ch)=(6,9,3)

15 R

TVC sigma (RMS) (c,b,ch)=(6,9,7)

15 -

TVC sigma (RMS) (c,b,ch)=(6,9,11)

TVC sigma (RMS) (c,b,ch)=(6,9,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(6,10,0)

2 .

TVC sigma (RMS) (c,b,ch)=(6,10,4)

TVC sigma (RMS) (c,b,ch)=(6,10,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(6,10,12)

TVC sigma (RMS) (c,b,ch)=(6,10,1)

15

TVC sigma (RMS) (c,b,ch)=(6,10,5)

15

TVC sigma (RMS) (c,b,ch)=(6,10,9)

15

TVC sigma (RMS) (c,b,ch)=(6,10,13)

TVC sigma (RMS) (c,b,ch)=(6,10,2)

TVC sigma (RMS) (c,b,ch)=(6,10,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,10,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,10,14)

TVC sigma (RMS) (c,b,ch)=(6,10,3)
T T

15F E

TVC sigma (RMS) (c,b,ch)=(6,10,7)
T T

TVC sigma (RMS) (c,b,ch)=(6,10,11)

15[ .

TVC sigma (RMS) (c,b,ch)=(6,10,15)

15 -1




TVC sigma (RMS) (c,b,ch)=(6,11,0)

TVC sigma (RMS) (c,b,ch)=(6,11,4)

1
100

-
T

TVC sigma (RMS) (c,b,ch)=(6,11,8)

100

-
T

o
ol
o

TVC sigma (RMS) (c,b,ch)=(6,11,12)

100

T
2

TVC sigma (RMS) (c,b,ch)=(6,11,1)

TVC sigma (RMS) (c,b,ch)=(6,11,5)

TVC sigma (RMS) (c,b,ch)=(6,11,9)

15

TVC sigma (RMS) (c,b,ch)=(6,11,13)

100

TVC sigma (RMS) (c,b,ch)=(6,11,2)

TVC sigma (RMS) (c,b,ch)=(6,11,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,11,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,11,14)

TVC sigma (RMS) (c,b,ch)=(6,11,3)

15F

1
100

TVC sigma (RMS) (c,b,ch)=(6,11,7)

TVC sigma (RMS) (c,b,ch)=(6,11,11)

100

Ol

TVC sigma (RMS) (c,b,ch)=(6,11,15)

100

15F




TVC sigma (RMS) (c,b,ch)=(6,12,0)

T T
2 .

TVC sigma (RMS) (c,b,ch)=(6,12,4)

L
1 1
50 100
TVC sigma (RMS) (c,b,ch)=(6,12,8)
T T
s 4
15[ —
= 4
Lr
1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,12,12)

2k -
15 -1
1 |

TVC sigma (RMS) (c,b,ch)=(6,12,1)

TVC sigma (RMS) (c,b,ch)=(6,12,5)

15

TVC sigma (RMS) (c,b,ch)=(6,12,9)

2

TVC sigma (RMS) (c,b,ch)=(6,12,2)

oF T T

TVC sigma (RMS) (c,b,ch)=(6,12,6)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(6,12,14)

T T
2

TVC sigma (RMS) (c,b,ch)=(6,12,3)

TVC sigma (RMS) (c,b,ch)=(6,12,7)

1 =

TVC sigma (RMS) (c,b,ch)=(6,12,11)

15 -1

TVC sigma (RMS) (c,b,ch)=(6,12,15)

2F T T =




TVC sigma (RMS) (c,b,ch)=(6,13,0)

-
T

TVC sigma (RMS) (c,b,ch)=(6,13,4)

1
100

-
T

TVC sigma (RMS) (c,b,ch)=(6,13,8)

100

o
ol
o

TVC sigma (RMS) (c,b,ch)=(6,13,12)

100

TVC sigma (RMS) (c,b,ch)=(6,13,1)

TVC sigma (RMS) (c,b,ch)=(6,13,5)

TVC sigma (RMS) (c,b,ch)=(6,13,9)

100

TVC sigma (RMS) (c,b,ch)=(6,13,13)

TVC sigma (RMS) (c,b,ch)=(6,13,2)

TVC sigma (RMS) (c,b,ch)=(6,13,6)

TVC sigma (RMS) (c,b,ch)=(6,13,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,14)

1
100

TVC sigma (RMS) (c,b,ch)=(6,13,3)

TVC sigma (RMS) (c,b,ch)=(6,13,7)

TVC sigma (RMS) (c,b,ch)=(6,13,11)

TVC sigma (RMS) (c,b,ch)=(6,13,15)




TVC sigma (RMS) (c,b,ch)=(6,14,0)

TVC sigma (RMS) (c,b,ch)=(6,14,4)

-
T

P

TVC sigma (RMS) (c,b,ch)=(6,14,8)

100

-

o
ol
o

TVC sigma (RMS) (c,b,ch)=(6,14,12)

TVC sigma (RMS) (c,b,ch)=(6,14,1)

15

Il

TVC sigma (RMS) (c,b,ch)=(6,14,5)

1
100

TVC sigma (RMS) (c,b,ch)=(6,14,9)

100

TVC sigma (RMS) (c,b,ch)=(6,14,13)

100

TVC sigma (RMS) (c,b,ch)=(6,14,2)

TVC sigma (RMS) (c,b,ch)=(6,14,6)

1
100

TVC sigma (RMS) (c,b,ch)=(6,14,10)

1
100

TVC sigma (RMS) (c,b,ch)=(6,14,14)

TVC sigma (RMS) (c,b,ch)=(6,14,3)

TVC sigma (RMS) (c,b,ch)=(6,14,7)

TVC sigma (RMS) (c,b,ch)=(6,14,11)

15

100

TVC sigma (RMS) (c,b,ch)=(6,14,15)




TVC sigma (RMS) (c,b,ch)=(6,15,0)

TVC sigma (RMS) (c,b,ch)=(6,15,4)

TVC sigma (RMS) (c,b,ch)=(6,15,8)

o
ol
o

100

TVC sigma (RMS) (c,b,ch)=(6,15,12)

TVC sigma (RMS) (c,b,ch)=(6,15,1)

TVC sigma (RMS) (c,b,ch)=(6,15,9)

10

TVC sigma (RMS) (c,b,ch)=(6,15,13)

TVC sigma (RMS) (c,b,ch)=(6,15,2)

TVC sigma (RMS) (c,b,ch)=(6,15,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(6,15,10)

A N

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(6,15,14)

TVC sigma (RMS) (c,b,ch)=(6,15,3)

TVC sigma (RMS) (c,b,ch)=(6,15,7)

2F T T

TVC sigma (RMS) (c,b,ch)=(6,15,11)

TVC sigma (RMS) (c,b,ch)=(6,15,15)

15F

o




TVC sigma (RMS) (c,b,ch)=(7,0,0)

TVC sigma (RMS) (c,b,ch)=(7,0,4)

T T
2k .

TVC sigma (RMS) (c,b,ch)=(7,0,8)

TVC sigma (RMS) (c,b,ch)=(7,0,12)

TVC sigma (RMS) (c,b,ch)=(7,0,1)

15F E

TVC sigma (RMS) (c,b,ch)=(7,0,5)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(7,0,9)

TVC sigma (RMS) (c,b,ch)=(7,0,13)

TVC sigma (RMS) (c,b,ch)=(7,0,2)

TVC sigma (RMS) (c,b,ch)=(7,0,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,0,10)

=i

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,0,14)

TVC sigma (RMS) (c,b,ch)=(7,0,3)

ok 4
15‘\/f\|\(v~l\w
L L

1

TVC sigma (RMS) (c,b,ch)=(7,0,7)
T T
s ]

15F -

TVC sigma (RMS) (c,b,ch)=(7,0,11)

15F -1

LT

TVC sigma (RMS) (c,b,ch)=(7,0,15)

LT




TVC sigma (RMS) (c,b,ch)=(7,1,0)

TVC sigma (RMS) (c,b,ch)=(7,1,4)

T T
2 .

50 100

TVC sigma (RMS) (c,b,ch)=(7,1,8)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,1,12)

TVC sigma (RMS) (c,b,ch)=(7,1,1)

15 -1

TVC sigma (RMS) (c,b,ch)=(7,1,5)

15 -

TVC sigma (RMS) (c,b,ch)=(7,1,9)

T T
2k -

TVC sigma (RMS) (c,b,ch)=(7,1,13)

TVC sigma (RMS) (c,b,ch)=(7,1,2)

TVC sigma (RMS) (c,b,ch)=(7,1,6)

A T T

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,1,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,1,14)

TVC sigma (RMS) (c,b,ch)=(7,1,3)

T T
2k .

15F -1

TVC sigma (RMS) (c,b,ch)=(7,1,7)

T T
2k .

15f E

TVC sigma (RMS) (c,b,ch)=(7,1,11)
T T
2k 4

15pF -1

TVC sigma (RMS) (c,b,ch)=(7,1,15)

T T
2k .




TVC sigma (RMS) (c,b,ch)=(7,2,0)

oF
ISJ\/MTH\/\/
o

1

-

TVC sigma (RMS) (c,b,ch)=(7,2,4)

2 4
15J\ﬁ\/\/'|ﬁ'l _
1 ——

TVC sigma (RMS) (c,b,ch)=(7,2,8)

o
ol
o
ol
o
3

TVC sigma (RMS) (c,b,ch)=(7,2,1)
2

TVC sigma (RMS) (c,b,ch)=(7,2,5)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(7,2,9)

T T
2k -

15 -1

TVC sigma (RMS) (c,b,ch)=(7,2,13)

TVC sigma (RMS) (c,b,ch)=(7,2,2)

TVC sigma (RMS) (c,b,ch)=(7,2,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,2,10)

A

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,2,14)

TVC sigma (RMS) (c,b,ch)=(7,2,3)
T T
AN ]

15 R

TVC sigma (RMS) (c,b,ch)=(7,2,7)

TVC sigma (RMS) (c,b,ch)=(7,2,11)

TVC sigma (RMS) (c,b,ch)=(7,2,15)

T T
2k .

15 -1




TVC sigma (RMS) (c,b,ch)=(7,3,0)

TVC sigma (RMS) (c,b,ch)=(7,3,4)

T T
2k .

50 100

TVC sigma (RMS) (c,b,ch)=(7,3,8)

,_‘
T
1

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,3,12)

TVC sigma (RMS) (c,b,ch)=(7,3,1)

TVC sigma (RMS) (c,b,ch)=(7,3,5)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(7,3,9)

TVC sigma (RMS) (c,b,ch)=(7,3,13)

TVC sigma (RMS) (c,b,ch)=(7,3,2)

TVC sigma (RMS) (c,b,ch)=(7,3,6)

~
—rTT

15

N

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,3,10)

15

A

1
100

o
ol
oS

TVC sigma (RMS) (c,b,ch)=(7,3,14)

TVC sigma (RMS) (c,b,ch)=(7,3,3)

15 E

TVC sigma (RMS) (c,b,ch)=(7,3,7)

15 -1

TVC sigma (RMS) (c,b,ch)=(7,3,11)

TVC sigma (RMS) (c,b,ch)=(7,3,15)




TVC sigma (RMS) (c,b,ch)=(7,4,0)

T T
2k

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,4)

TVC sigma (RMS) (c,b,ch)=(7,4,8)

T T
2k

TVC sigma (RMS) (c,b,ch)=(7,4,12)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,1)

oF T T ]

15

TVC sigma (RMS) (c,b,ch)=(7,4,5)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,9)

TVC sigma (RMS) (c,b,ch)=(7,4,13)

2 T T

15 _

TVC sigma (RMS) (c,b,ch)=(7,4,2)

TVC sigma (RMS) (c,b,ch)=(7,4,6)

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,4,10)

1
0 50 100

TVC sigma (RMS) (c,b,ch)=(7,4,14)

TVC sigma (RMS) (c,b,ch)=(7,4,3)

oF
15‘1Ar\/ﬂ
e

TVC sigma (RMS) (c,b,ch)=(7,4,7)

TVC sigma (RMS) (c,b,ch)=(7,4,11)

T T
2k

15

TVC sigma (RMS) (c,b,ch)=(7,4,15)

15F




TVC sigma (RMS) (c,b,ch)=(7,5,0)

2

-

1
100

TVC sigma (RMS) (c,b,ch)=(7,5,4)

2

100

TVC sigma (RMS) (c,b,ch)=(7,5,8)

2

o

TVC sigma (RMS) (c,b,ch)=(7,5,12)

100

TVC sigma (RMS) (c,b,ch)=(7,5,1)

TVC sigma (RMS) (c,b,ch)=(7,5,5)

TVC sigma (RMS) (c,b,ch)=(7,5,9)

15

TVC sigma (RMS) (c,b,ch)=(7,5,13)

100

TVC sigma (RMS) (c,b,ch)=(7,5,2)

TVC sigma (RMS) (c,b,ch)=(7,5,6)

1
100

TVC sigma (RMS) (c,b,ch)=(7,5,10)

1
100

TVC sigma (RMS) (c,b,ch)=(7,5,14)

TVC sigma (RMS) (c,b,ch)=(7,5,3)

>F
15
1
|

TVC sigma (RMS) (c,b,ch)=(7,5,7)

15

TVC sigma (RMS) (c,b,ch)=(7,5,11)

100

T
2k

15F

TVC sigma (RMS) (c,b,ch)=(7,5,15)

100

T
2k

15F




TVC sigma (RMS) (c,b,ch)=(7,6,0)

T T
2

TVC sigma (RMS) (c,b,ch)=(7,6,4)

2

T T T
J

TVC sigma (RMS) (c,b,ch)=(7,6,8)

o

0.5

TVC sigma (RMS) (c,b,ch)=(7,6,1)

.F T T ]

15 -1

TVC sigma (RMS) (c,b,ch)=(7,6,5)

2F T T =

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,9)

TVC sigma (RMS) (c,b,ch)=(7,6,13)

15 -1

TVC sigma (RMS) (c,b,ch)=(7,6,2)

2

15

TVC sigma (RMS) (c,b,ch)=(7,6,6)

2

15 -

1
50 100

TVC sigma (RMS) (c,b,ch)=(7,6,10)

TVC sigma (RMS) (c,b,ch)=(7,6,14)

18

16

14

12

TVC sigma (RMS) (c,b,ch)=(7,6,3)

T T
2k .

15 -1

TVC sigma (RMS) (c,b,ch)=(7,6,7)

T T
2k .

15k E

TVC sigma (RMS) (c,b,ch)=(7,6,11)

TVC sigma (RMS) (c,b,ch)=(7,6,15)




TVC sigma (RMS) (c,b,ch)=(7,7,0)

TVC sigma (RMS) (c,b,ch)=(7,7,4)

TVC sigma (RMS) (c,b,ch)=(7,7,8)

o

50 100

TVC sigma (RMS) (c,b,ch)=(7,7,12)

TVC sigma (RMS) (c,b,ch)=(7,7,1)

TVC sigma (RMS) (c,b,ch)=(7,7,5)

TVC sigma (RMS) (c,b,ch)=(7,7,9)

TVC sigma (RMS) (c,b,ch)=(7,7,13)

15

TVC sigma (RMS) (c,b,ch)=(7,7,2)

TVC sigma (RMS) (c,b,ch)=(7,7,6)

15

15

A T

1
100

TVC sigma (RMS) (c,b,ch)=(7,7,10)

1
100

TVC sigma (RMS) (c,b,ch)=(7,7,14)

N S

TVC sigma (RMS) (c,b,ch)=(7,7,3)

TVC sigma (RMS) (c,b,ch)=(7,7,7)

15 1

TVC sigma (RMS) (c,b,ch)=(7,7,11)

15F -1

TVC sigma (RMS) (c,b,ch)=(7,7,15)




TVC sigma (RMS) (c,b,ch)=(7,8,0)

TVC sigma (RMS) (c,b,ch)=(7,8,4)

1
100

T
2

TVC sigma (RMS) (c,b,ch)=(7,8,8)

100

2k

o
ol
o

TVC sigma (RMS) (c,b,ch)=(7,8,12)

100

TVC sigma (RMS) (c,b,ch)=(7,8,1)

TVC sigma (RMS) (c,b,ch)=(7,8,5)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,9)

100

TVC sigma (RMS) (c,b,ch)=(7,8,13)

TVC sigma (RMS) (c,b,ch)=(7,8,2)

15

I

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,6)

TVC sigma (RMS) (c,b,ch)=(7,8,10)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,14)

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,3)

T
2k

15

1
100

TVC sigma (RMS) (c,b,ch)=(7,8,7)

15k

TVC sigma (RMS) (c,b,ch)=(7,8,11)

100

TVC sigma (RMS) (c,b,ch)=(7,8,15)

15

Gy




TVC sigma (RMS) c,b,ch)=(7,9,0)

2F

0.5

100

TVC sigma (RMS) (c,b,ch)=(7,9,4)

TVC sigma (RMS) c,b,ch)=(7,9,8)

o

100

TVC sigma (RMS) (c,b,ch)=(7,9, 12)

TVC sigma (RMS) (c,b,ch)=(7,9,1)

151

TVC sigma (RMS) (c,b,ch)=(7,9,5)

1
100

T
2k

TVC sigma (RMS) (c,b,ch)=(7,9,9)

1
100

TVC sigma (RMS) (c,b,ch)=(7,9,13)

T
2k

TVC sigma (RMS) (c,b,ch)=(7,9,2)

TVC sigma (RMS) (c,b,ch)=(7,9,6)

TVC sigma (RMS) (c,b,ch)=(7,9,10)

TVC sigma (RMS) (c,b,ch)=(7,9,14)

TVC sigma (RMS) (c,b,ch)=(7,9,3)

TVC sigma (RMS) (c,b,ch)=(7,9,7)

15F

TVC sigma (RMS) (c,b,ch)=(7,9,11)

100

T
2k

15F

TVC sigma (RMS) (c,b,ch)=(7,9,15)

100

15




